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FOREWORD

This book consists of 22 lessons, which cover basic Urdu
tenses/verbs, such as :
) Simple Past Tense (Intransitive and Transitive Verbg)
(i) Futufe Tense.
(iii)  Present and Past Continuous Tense.
iv)  Subjunctive Tense.
) Future Passive Participle.
(vi) Helping Verbs.
(vii) Present Perfect.
(viii) Past Perfect.
(1X) Past Habitual Tense.
( X ) Conjunctive Participle.

In this book every lesson has its own major and subsidiary
purpose and is so graded as to lead the students easily and
gradually from one step to the next. With the help of this book
foreign students can understand spoken Urdu, read easily Urdu

books and develop the ability of writing.

ZAHIDA SAEED
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LESSON-1
STRUCTURAL ITEMS:

The English word have ( __ possess) in Urdu for

movable property.

he / she has

u’g L J us ke paas
they have Ut £ o un ke paas
you have Ji L ..;T (formal) aap ke paas
you have Ji i (informal) tumhaare paas
Vocabulary:
lhave  Ule<  mere paas : self »#  khud

™. S

we have (| <.k hamaare paas : magazie Jl~ risaala

fifty
forty five

vk

Stk

pachaas

S 2
pantaalees any 4. Koee

sweater w.s-p zs

watches -¢ ug;f
chocolate ¢ LKl
chicken burgé"r"'?/;. ué

bread £ -¢ (33/ J"j
ice  w. P J:,lg
flour wm.s  ET
servant  w. st:l
db% ™w-S ‘}:J/
Cat  f.s o

sweater

81N wmes Ll

ghariaan
chocolate
chicken burger
doubl roti
chaawal

aata

naukar

K,uH_'q
bl

Saveg
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e B LUl & TY A
-« ug, L;. ‘B
e Ui A
- g7 u’f ‘B

e AT LTy A
- Ut 4B

fe Ul A

-V Ui B

e L UL LTV
-‘Ltugﬁl
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e LA NL T A
- <Ub 4B

e ¥ & (A
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- # o Ut B

- Uk # LA
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_%F}BT:U.?}&B
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?c‘z_u’kg_Jbv;/‘:r'ﬁ‘giA
-e.ui'u’zuf‘ui‘?u’g B

U u"L. Z gjrg/‘;’/ A
= u"(: L 4./‘;‘/ L ._:_,T ‘B

?U.?J&LJ(U.?C(UA’ZA
UL L ol BT 0§ T B

e N v LT BTy
-q;/;’»u’&gﬁ"ﬁfs

e IO BT LTy
S e L 1 O
-Ju,/(fwﬁéfé’_é_j‘j!ug:
.

W > ® PP m B

e B8 UL LT BTy
-‘Llﬁ/.{lu’kgﬁ‘:

e SE U LTy
_u.?}ﬁ'fukgﬂ':

tus A

£

T > w >



Exercises:

6
e Fut LTV FA

J
-c"_uf.’o/r‘-’}dﬁu’&_;/:cus,&ZB

e K &F UL e LT A
ez 2K B e 5B

Q1) Fill in the blanks with appropriate possessive pronoun.

b )
i
()
G
&

&y

()
()
@)
)

(D
@

()
)

YUt v E- A 1
Y,y T 92
T e & i
Y R v s 7

-t uyf pr— 5
U - dp— 6
RERCT B 7
Y RV gy .
N [ a— 9
ot ¥ ety o 10
o M3 S 11

e Jit 1) 3¢ §y A Y 12
A 17! & ¥ dzfl o113

(2‘;, ............ Lﬁdﬁ‘ghi



_u’g,@,, ............ 722
S 07 &S U 23
WY 4y g 24

Q2) Answer the following questions:

?ugf‘.réfu’gé,abﬂ
0k L Uy L2

s ud & UL £ s site 3
e T Lo T4
Muﬁb’fd’fugé_/g:s
. ?ufJW&?:u’,&c.Ajﬁ
?uzw“'d"’ugzi.,/ﬁﬂ
sl X LnLl T8
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e BB UL L TY
e b AUl LT Y 0
fo o 2H UL L ST
e ¥ & ()12
e LUl L LTV 3
e ¥ () 4
fe du S UL T Y 115
e § & e
Ut il &1L LT Y 7
o £ o & () 118
e tT UL £ T I 119
e O EY v L LTY 20
S it g1 & ¥ 52 Ul e U 21
e Ul el JF Yo | 22
e Uk e fr iz | 123
S UL L Ve w24
g vl £ U7 U Gk 25
e S8 UL LT BT Y 26
e U7 3 UL & T BT Y 27
e O LTy 28
e FUL L T 729
fo 6 UL 2 ST 30

©

e



Note: _
)" ¢ ol oLl L < " the literal meaning is " a book is
next to me ". In the above sentence the original context is as
follows:

el e

When we say " < 7" i Ul « 2 " the post position
" U~ "is not in written form but it is assumed that there is a

post position" s ", so" | " is changed into " < # ".

2)" e A L Ul « 2 " this idiom is reserved for the
possession of things and animals. In this sense we don't
'possess' or 'own' people, except as servants.

I'C‘—ﬁu’&é—ﬁ"



STRUCTURAL ITEM:
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LESSON 2

Different ways of expressing the English word have

(__ poss_ess) in Urdu.

Vocabulary:
sister 04
sisters u‘:"’
brother éw
son 7
daughter G:
sons 2

daughters Uk
shop .5k
U6
business ¥ u"/

shops

farm w.s.p/b

only one t;g‘

bahan
bahanen
bhaai
beta

beti
bete
betiaan
dokaan
dokaanen
business
farm

iklota
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S
C
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e

S
i
v
S
"
16~
(\
EN
(vs]

tur Qs o & o A
—us B8 Gt o Qe ot S 12 B

U 2l & o A
~Uf il e 2B
wr St & o A

...u“?u:f{[f» d/z‘ ‘B
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AL LTl
e A e st
N I ST
A e e o U é:
e 4 3 T STy
ce e G
fe ot & Ut § ST
UL ) e

w » W » W » W »

S LS 6 T
—un b S

st 2SS T
- 8 Al 12

w > w P

Exercises:
Q1) Fill in the blanks with appropriate words:
¢_Jl¢;—d/.;7—&_;T—fl’—‘j&;/.‘-u’gé:,{T
Ui - ent - it -

/
R O e Lo
ot Ot ot & .
Y éwu/és' ............ 3

oot bt L e 4
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ot O F B
Tl S 16
I T

Ut é_ S s 8
'LJ,? é_ Jk ............ :9
S Ul & e 110
e ‘j: T
¥4 é‘__ ‘Z ............ 12
o (R 13

_u:;",fé[ ............ 14
Ut O il 2 s 15
Y- L PR A - 16
/4 ,jg,éf ............ 7

bl WL 35 s 18

Ut J:/r(,‘ u;( ............ 19
'-U.? J:zé B, cseiiiivss :20

_4"._/(4 ............ UQ"UQL;-324
e Ub) 3 ) Y :25

<UELE0 5 ol s 26
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Q2) Answer the following questions:
Ut S it & =71
Ut Bt o T L wel 2
tup du & L T
s U & & |
Sur & & L -
sur o & T
fup & B L o7
st Qb ot & o F 8
st ok & e 9
s St & w10
?uf//gfﬁ_{fuﬁd};:ﬂ
e A 06 LT ol 12
w 4 3¢ LT T 3
e 6 & Ut § T Y 114
s &S ¥ Y 7115
S Lf.'/.(g(_.._—f 16
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Note:
1)
iU e = | have two sisters

literal meaning (My sisters are two)
i. ‘aj L 12 = | have a house

literal meaning (My house is one)
. Jf 2l o 2 = | have two arms

literal meaning (My arms are two)

The above context is used to relationship, parts of the
body and immorable property.

In Urdu the sentence structure is as follows:

Verb Noun Possessive Pronoun
(to be)
i U s $

2)" J{d o s « " If the persons are of mixed gender

and number then the masculine plural is preffered.

3)" L " is emphatic word.
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LESSON 3
STRUCTURAL ITEMS:
1- Comparison of adjectives.

. 2- Postposition.

than & se
Vocabulary:

towork hard £/ =¥  mahnat karna
population £. L7 aabaadi
tall W lamba
hard working G‘{ mahnati
busy niys masroof
oy
sensative J hassas
tenth U dasween
more, much 319 zayaada
me & mujh
o — 3ab

fe é,e;.’c,d‘uug:A
_c‘_é,{c,ww‘ugd.:s
Ceun VA
<2 JuU b B
-‘gyaibd‘g:A

-« U Ulnacyp B
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S W e Uil ub « F LA
-‘LUc.,u]»ulu‘uyJ.:B
st b = F A
wlre AF U4 B
e & ol e (U LT MY A
= Folia faU @B

fe Sy L YA

O e £« S0y B
U u/ b u_.:fl' U A

Ut i e F T Uy 6B

?LLJVuLJafV:J‘lfIA
< b wl < lesc Ul & B

?‘Lgrwéwi.,{c.g:/\
e bt Qi o A8
?{_l:((t((;b{a‘/.cs/tA

-gd‘rtKu’l:B
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e toy QU b = o 1 A
~ PL U U UGB

e oy wlie Fley A
by wbie Fucu g B
o 0¥ by e UL B Y A

=& e ey g B

Gl F o g2 M) e o = (2 AP A
~ 7 Slwl e $i et < Uy & 0B

o wu?? wli e my :LTrU/I YA

- =P i e :gl’rtlrf <l G B

oo 7 1% = ij/ YA

Sl my G 8B
?‘L/‘,ﬁuc_unw’g,g:A
_q_f!zc—qﬁut“fg@/‘uwﬁ

fe Uy g2 e o K Ul A

| ,‘L,{};nzc_qguggzs

e nli e st OUT § G U A

-6 wb e e T T § g Ul 6B
e e Svd J/ 7L Jﬁ: YA

e JZMC—GJXUJJ?W/UJ/?‘UQ&ZB
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Exercises:
Q1) Fill in the blanks with suitable word.

e —oli-c o -

S () i Fusy

s B s Ul es 2

e W Udn ) oy 23

SpE B s F S 4

s W i A 5y B

U i 17 S— & 096

SUn ,,/ ............ . _’,T e 7

e UL2 s e ("15, 8
?‘r'l-f(rc((j"f‘-‘/- ............ <79
_4‘-_‘)"1((;(6(4;2 ............ # 10
?c‘-_l[rt{éwé_y, ............ it
e W{éw B e o o Y 12
EHY - T & lx 3

T (7 o e U b Y 14
?%j_ju ............ Sk ,;TrM L 15
i T - sl ,;Tru,«t 16
o P g Y JJ/ 17
] - ¥ o] gL 18
SRS DR — ¥ ol 19
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N T e— S8 N S J* 22
Q2) Answer the following questions:

e 0 = F sy

e 1z e U F Y 2

e W = b Fy3

S U e U5 il « F | 14

Sus by « F LY 5

e & mli e (U T A1y 6

e iy L YT

un 1) ol T Y 8

?9—090)&/'6(1/‘3":(39

fur due &2 L _T10

S U b B ez e T 11

e U b8 du o = T 12

e U b8 QU ek = o 113

fe oy (Ut 0% = o 114

fe oy wl e (5 115

e & w116

e 7 Do e Sl o\Tew 17

S wurdd wli e uno\Tewr 18

e Ul f1 e o ¥ ol 19

b bt e AT GT g Y20

e $r e A E S I Y 2
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LESSON 4
STRUCTURAL ITEM:
own (ms) G apna
own (mp) & apne
ownNn (fs.p) u; I apni
Vocabulary:
spectac les (glasses) £-s & ainak
‘74‘-—/’/ KT oA
-?—/fl'@”ﬁ‘:"u"'&:e’
fe ¥ d/ T \5( A

e K GI6e 2 G B
st e Ll A
ek B L E B
?U.?Uf"z(!d‘dg:A
_ug‘./ftzu‘;wfmmug&:B
w g g LA

e 6§16 UGB
tur o ot e LA
-q;ﬁl’ig.u.;h,:u;,&:B
e G -0 Gl E b o A

e G-dWE U UGB
e G Enl A

e B VU 5B
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Exercise:
Q) Complete the following sentences with :

-zt - 4

i I i S o2
_w;;{ ............ L e 3
U L S U os 4
v“-_d/‘f ............ U’/(,,;:,L,f5

e 3 g— S . 6

R - (___,\,,7:1,(7
S R L. o 8
?.»_-,(j,-:} ............ Kb o 9

e =34 ¥l - 10
S SE w11
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LESSON 5
STRUCTURAL ITEM:
Present Continuous:

he is going < ko

e b b U 4k A

- bsle Aoy

e b U UL A
-c‘-(j‘/lg;u:

?ugc"_JlguL{L}':A
-ufg.Jlgd’Cui

Ut ol U U A
-ugduigd}c’(ﬁui

?uz‘ajtgul{_.:,T:A
-unpl.p?)uﬁt

b U T
..UMO"/lgéKu.‘.':
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Ut et b U o GTA
Ui el mU B

=X

2

Y SUL QU e
e e () U s b U (B

?n‘ajtgub‘v(FIA
Ul B LB

Sl U A
_Un b JF LB

b U G T A
-t Sl ik e B

Exercises:
Q1) Fill in the blanks with different formsof present continuous

tense using infinitive " & ".

i rsraesenessas J'jl., ,da b |

 ceesessssane /( ‘Jl/ 22
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 F— i U 4
il J m T 5
. J— U 0T 6
S W @ 7
o ol (f)f':a
% é( (m Jx :9

Q2) Answer the following questions:
S b b Ul 4l o1
fe S b Ul L 2
ek U 73
U Wb U U 4
Wt sl U ST
U e Ul T 6
Ut e b U o 17
?ujgﬁ/[guq(dld/._(T:S
Tt es b U 4 L LT
Note: The present continuous tense is formed by adding

"raha hai " < |+ (inflected according to the gender and the

number of the subject) to the root verb.



sing (masc)

sing (fem)

plu (masc)

plu (fem)

Note:

26

Present Continuous Tense

2nd PERSON
Ist PERSON |[PLAIN HONOR"FIC 3rd PERSON
U b 8 Mlazl_o(.' uj‘a/k;{'f e lilw
main ja raha |tum ja rahe ho |aap ja rahe hain | wuh ja raha hai
hoon you are going |you are going he is going
| am going
Un B Sl Ul T PR
main ja rahee |tum ja rahi ho |aap ja rahi hain |wuh ja rahi hai
hoon you are going |you are going she is going
| am going
Vsl fngeibf  |uesbel  |Uesbw
ham ja rahe |[tum ja rahe ho |aap ja rahe hain |wuh ja rahe
hain you are going |you are going hain
we are going they are going
e DS k|5 o b £ UGl T Ut e
ham ja rahe |tum ja rahi ho |aap ja rahi hain |wuh ja rahi hain
(rahi) hain you are going |you are going they are going
we are going

Second person singular number (plain) is as follows:

ing (Fem) sing (Masc)
< Bl Y b
too ja rahi hai too ja raha hai
thou is going thou is going
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LESSON 6
STRUCTURAL ITEMS:

Possessive Adjectives:

his —
her ms (I apna
their mp &l apne
my tsp 4! apni
our . < ==
Vocabul\ae g WS P b ke
to memorize (remember) e sl yaad karna
to put (keep) ¢4 rakhna
to set right tS .,gf theek karna
to sew (stich) bx seena
to ring up 6 u;" phone karna
to talk (gossip) ¢S uf |  baaten karna
e | S Y FA
S AT B
e s S YA
- G b b s B
s S <A
Un A eI B
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‘o S oy
_u’?(ﬁ//dbq;.‘d"u
~ s -
i;:c&;djuq/i,?z_,lr’

v

- U{lytguyffjwif'%'u:
& PT&UL{J‘
?c..pf’c.;/’c?.'u

?n‘ajlgul{f'

-u;fg,/lg/f'%lu.f:

e w /S YL
-f_(ﬁ//..,?fy’g:,,;
e S Y
S-S SV NI

e s S 1

-‘agﬁju’gﬁ-)u’;l”:
?uj’c‘_zfgqb(:":
_ug‘azfu,;’/uu%_’ui
S’g‘-_(j//“lfl;':
S Ll st Gl

A
‘B
A
B
A
‘B

A
B
A
B
A
B

‘A
B
A
B
A
B
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Exercise:

Q) Fill in the blanks with:

Ll 2 =

i p/,h}:’ ............ 03 1

e G b b i D
_Uﬁ(ﬁ/ﬁgg ............ a3

U S Dl aaill
“y‘:%JgiUL‘v(Z‘:Z ............ r"’5
b !,JT(—_<__/ ............ 09 :6

-U¥ Pl,/f ............ k7

e o S S 558

- v n!ja]ﬁ/ufu'/w ............ 2 :9
i (§0 15 B v 23 :10
sUties L g8 S com e 0 111

_‘a ‘J/UE&C——U% ............ 'Y 12
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LESSON 7
PART -1
STRUCTURAL ITEM:
Simple Past Tensé ( Intransitive Verb )
Vocabulary:
to run t7» dor'na
park wm-sp Jg park
school +? J& school

lawn ws.¢ U lawn

577 uLf ‘)/l :

e S J(?, .

S8 Uy UL

Sl U I ST e

St b ol abe

-l e d;(’ o

S0 Y Lo usl LIS

~JIn n J,C Lf{ 0y

St Ju J’L' - F Yo
M LS U8B
i S o TS A
I E LS UGB

> W > W >

> w > w
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in U o T A
R TPY - JL A B

Uk W o T A
(o) Gy S Jo 7B
e S A

S oyt S B

S Uy F U A

“Gin oy B

Exercises:

Q1) Fill in the blanks with the correct alternative given in

brackets:

(GIENI)) R T ‘—'6.': H/, 1
(29 = 1259) R e J& U‘" LU 2
(et = J2n) e Ul & b3
(Ui - d) $ i Uy Lo sl LIS 24
(13 = < Jp) s uy ?1 ‘)( 5
(Ul = §2a) - J f' Jf 6
(s = <_229) o el T
(s = 139) — o __G& A8
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Q2) Answer the following questions:

1735 ul,‘f H/l 21

i U Ll 2

S St P a3

s m Uy Lo sl UL 24

e du JL’ .__;7 J( Y 5

S e J& i .,;T tf Y 6
St W T T

S W o <718

Sedn I ¢ J 9

$ S ul{f' f 10

Note:
1) Simple past tense (Intransitive Verb) is formed by adding
a"i", _e"<",_i"Y",_een" /" tothe root verb

according to the number and gender of the subject.

2)" S (T " Ist person plural number feminine,

Dehli people use the verb to agree with the subject.
eg." Sin "

Lucknow people also use " «Js» /i " for first person

plural number feminine.



Sing (Masc)

Sing (Fem)

Plu (Masc)

Plu (Fem)

33

SIMPLE PAST TENSE

2nd PERSON '

Ist PERSON PLAIN HONOR:FIC 3rd PERSON
sy & Y f n T 1793 03
main daur'a tum daur'e aap daur'e wuh daur'a
| ran you ran you ran he ran
LIIAVA U ‘;' U 77 (5735 03
main Daur'ee tum daur'een |aap daur'een |wuh daur'ee
| ran you ran you ran she ran

<n A I F I T P Y]
ham daur'e tum daur'e aap daur'e wuh daur'e
we ran you ran you ran they ran
(i) s (B U F Ui T U733 s
ham daur'e tum daur'een |aap daur'een |wuh daur'een
(daur'een) you ran you ran they ran
we ran

Note: Second person singular (plain) is as follows .

Sing (Fem) Sing (Masc)
Sl ¥ 10y 9

too daur'ee too daur'a
thou ran thou ran
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LESSON 8

STRUCTURAL ITEM:
Telling The Time
Vocabulary:
to strike (as a clock)
struck (as a clock) o’clock
Six
twelve
With one,half more in excess-
of the stated number,
three quarters
one and?quarte? (quarter past one)
one andihalf (half past one)

a
two and Lhalf (half past two)

1:00
4:00

6:00

(% bajna
Z. baje
i chhe
ok baarah
& saarh'e
<4~y paun, paune
Iy sawa
Pye] derh
Ote dhaai
Ut L Z A
(s 25 W)
-¢ b AT BT
-t L. /.'l.a ‘B2

B E 2 B3



4:30

6:30

12:45

1:45

2:45

1: 15

2:15

3:15

1:30

2:30

12:00

12:30

Ut & s £ 51 B4

i & 2L Bs

{rdt)e oy 8o

i f. I3 L‘f ‘B7

e o Lg ‘B8

(o Dr)ie i

-U,?é—” fy

S E Ly

Ui & w230

‘B9

:B10

:B11

75 :B12

:B13

{:B14

:B15
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Exercise:

Q) Fill in the blanks with the correct alternative given in the

brackets:
(& -¢N S Esocomnecs 1
(s - £.) e 2
(& - 1r) Y gre— s 3
(é—‘ J) o L s 24
(g - £) PET— y 5
(é = L.,/.) Y r— ) 2_,4; 6
(e-2) e s S 7
(é - %) —g »%5 8
(-t R 'ééu,; 9
(U.." - (‘_) e f_ o4 110
((?-é) Y gpe— b £ 1
Note:

1) The word " (f £ " (has struck) is used to express the idea
in the English "O'Clock". Both the singular and plural forms
are used, depending on the number of the word they agree

with.
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2) The word " £y " (lnﬂected to" iy ") is used for
“three quarters”: but since it is already means a number minus
one-forth (that is, one quarter less than a : number), itis
combined with the next number o s
ol 224" (11 :45)
L2y (1445) et
3) The unchangable word " I» " is used to show a quarter past
an hour. It means not one-forth but a number plus one-forth

(that is, one forth above or more than a number). It is used

with all twelve hours. So:

"ably " (K:15)

"yl " (2;15 ) etc.
4) Half hours are shown by three words:

a)For1:30 "<« = 245"

b) For 2:30 " Ut 43@5 "

c) For all other half hours the word " Z_JL- " is used
before the number. So: " £ & £ " (3:30)
5) The common mistakeswhich have been given below are the
popular form of the speech. The wrong context is given in the
brackets: (& = L ty)

ol
( = L 1¥)

i



STRUCTURAL ITEM:

Simple Past tense:

Vocabulary:
mondaym = peer
market w Jljl baazaar
evening { ¢ shaam
noon  ,z» dopehar

to,in,at ¥ ko

39

PART I

( Intransitive Verb )

SP
collegem é( kalij
office ms® 7  daftar
sunday w JI¥ itwaar

father EI abba

T U T b
A JF e

'f O Lo
-fd}cf:vi
L U o sal 4l :
&L JE U s
s U
AT
?Zuk{(,glé.{fz
LA

W o oS T
o

A
B
A
B
A
‘B
A
B
A
B
A

B



<

_f /U{.)rl’

R

?éful'l(b./b;”k}{:A

LoraS

‘B

Nl W o T gnA

noon _xs» dopahar -(‘f/ &£ Mk A L s

2 J F £ a9
S A

V. U F S A

& Sk

‘.‘éul{.../f'fﬁ-:
LS

‘B

?ufful[__xf’;f:A
-(f)ef/umf ‘B



Exercises:

4o

Q1) Complete the sentences with appropriate words:

P

$ eos

$ o

SO

........ ubfff,cla

O ey uL,‘,( L,
UL"( La 2 4l
. UL‘J/ L7 s L

ML S 4% Ji’:
m

2
3
4
5
76
7
8
9

i

10

A irstcian: UL‘J/?/?T‘)(:'H

$ e U

mM
............ df‘ﬂf
T ULQ(._.,/;T)/A’;»

(S
F..
ubf«(«}(:

112

13

14

Jl 15

F" -

T e ¢S a9
M

ATr



Ly

Q2) Answer the following questions:

e o & a1

o U o2

L U Lo sl a3

' U sl L 4
LU WL LT5

W U oS LT e

¢ AL E T

s u et T8

Vo UW/-/gij:g

e W o T 10
' YIS RE
N u ¢ a2

Lo S 513
W O o P 14
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PART il
Vocabulary: ., :

to come back 'tl'ﬁl;. | waapas aana -
from, with, by <« se
month (x maheena
year Ju saal
last U pichhla

beYove 4 Pahle

?LT = J:ﬁ Z_ 2[ 4l

AT & Lo

Wdr g &

1 M T S
seTun 4 £ & &
T E L

Tt £ 17 it
T & e

w > W > W > W >

el e P8 )
~2T & JoosB
T 2 & SIA
LTR L & uosB



b3

Wl P L5 1
Vedf £ous
S‘ufT;éKJ?T A
-6Tc.éKer“ru.f:B

T S o e ST
2T\ g2 & 4
TS ] o T
WD Tyl o &5 4
I § J’,-l, ._,J//f f’:

-7 ’s e e

w > W > W >

NER WP o0y
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Exercises:
Q1) Complete the sentences with appropriate words:
LT - el 7= &
e JF £ & 4 o
. A & L2
$ s s £ &3
[ — e K EZ 17 sl 4
. R e HEZL s
B B A & ugF:;P:S
- e it u“; Z 2 L:,T Ly
e e X J"} . 3.’1 8
— & é{ wy ;T 9
R & é( ' rlf? & 10
§ dimis T o ;T it
R s\ g2 & A2
I Yl ;T 113



45

Q2) Answer the following questions:

V_(:Tc_d,ﬁé gﬂo 4l
UG- 0
?Lﬂﬁ/,jégég
VT e by & 217 aien
LT pe &y

UT o S 5 2
e et de & 1,
T e by T8

SE.T I AT 79

ST S w2 M PR
TS Ul e 14



46
Note:

1) The root of " (f " (went) is "x.( "not "tk " (to go) and

"o s prakrit verb which means to go " tk ".

2) if the root of the verb ends with the vowels,

(e.g« - -s-1-T)the simple past tense is formed by
adding " | ".
eg " .l.'T nl " L{f n'

3) If the persons are of mixed gender and number then the

masculine plural is preferred, so " s ul{ ke sl 4l ",

8 "eTpi Lwn
Mostly in Urdu after the adverb of the time, the
postposition is not written but it is assumed so " i " is

changed into " £ ".

B)" 2T s\ &2 I A
In the above sentence postposition " = " (in) is omitted,

so" b th. " is changed into " & E;; " (last month).
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PART IV
STRUCTURAL ITEM:
Simple Past Tense (Intransitive Verb)
Vocabulary:
when < kab
oclock & baje
tosleep (» sona
night § &« raat
%:h45 ,\/_,J Paune mou
Sl £ & b A
“WwE &I B

?ér J Lo :A
Ar i e B

tey S & A
%
&5 B

('U:l)’ z & A 8 A
-U:,Y’ Z. P 2_.{,‘ s :B

v f y <)) ?A’ kf A
b S g Uy BB



A s e G

~irZ ol 2 B

R S A
DU LB

ey S S el f A
b £ ks Ut B

?u:;’-../'/chJFZA
-Jrééb;‘f&bd’fgﬂﬁ

?Lr//;”.__/fl_f:A
-L}’U:‘}I(A’;))("fw‘;&:B

'?uf’rf[;»%/ﬁgf:A
-(Lr’)u:;’uﬁ;//;»up:ﬁlB



45

Exercises: Pask

Q1) Fill in the blanks with the appropriate form of 5z£=é tense

using infinitive , " t» " .

E— .4 2__,; Ll sl LS4
L N s (m) 17 \[ 5
p— I asmUt 6

O S e o TY 7
s [(ﬁﬁg,, Je 8

S EX S ol rm <79
P £ il 2 A0

€ £ E o 1
S G el ¢ 12
S S =bof 13

§ e g5 e ef U 114
S I w15



5o

Q2) Answer the following questions:
Ly f— Z 4 1
6y o o2
Sy J .{_ 3
Sy £ Ul sl 154
ey g» .:;,T V5
6
74
8
9

?L}’/ﬂ»wf’gﬂ‘]
‘-’uf’r/m:_/fgnz
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LESSON 9

Vocabulary:

Simple Past Tense (Transitive Verb)

tobuy (47 khareedna

Vocabulary:
bazar  wm-sp UL bazar
picture +-s 9 tasweer
pictures € -p ujpﬁ tasweeren
shoes w-p L2 jute
i £.s de tai
taies €7 ULt taiaan
television M-s-P (}f television

super market © oy g

friday bazar ~ Ul »2

super market

juma bazar

st e il Sl A

A F W e MU B

?d,.&.].cu‘-q'/{rz’,d'.d‘ZA

“Ur7 e sl g2 v B

S k7 = ulf DA S A J‘ A

sl e I g LR L U B
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SUk? e N Jgr? o Ui A
Jsi e G yp? iU B

Wil = U B o i T A
“Bat e ud Ot L Ut B

fUsr? e U UGt o o ST A
-UaS e\ T el UGt L L A B

-;,f‘i.c_.ﬁ)i,;?.gdLufiB

Ml e U ubd sl v LT A
x7 = Yl U3 & - U¥ B
Exercise:
Q1) Fill in the blanks with different forms of simple past tense
using infinitive " t4.7 .
$ sk o L i
e WE e i & Uit
L e P F
R e &I IR sl IR
i e QU gpd i
N e uddt i

O G r W N
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S rareenaseens Q,gT(U/lugE:,Z_rT:
e ez i e
R ;uglgu)‘,‘fdd’_u)ﬂﬂ

Q2) Answer the following questions:
' S = LS
Wt e N 9 L L
?;47.4,;}&(2'_;?,:2_1(9/51(}‘:
Sal = N Jgr?
?d&].c.ubféed.g:,f:
Uat e W UGt o L o <7
Ser? ubj/ ..g oy f'
Mt e o wh Ll LT

O N O N WwN

Note:

- The s w“bject of the transitive verb takes the particle " 2"
eg. "lks W oL
2) The verb doesn't agree with the subject but with the object
in number and gender. If the object in singular masculine,
verb root takes 'a' - | ending, when the object is plural
masculine, the verb root takes 'e' - «.

If the object is singular feminine, verb root takes 'i' - (§.

When the object is plural feminine, the root verb takes 'een' J
ending.

3) u:‘”:l " "unhon" is used for singular person to show respect.
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4) If the object is not mentioned in the sentence, the verb

is used masculine singular, e.g. " 147 /" e Uil & Lis ",

SIMPLE PAST TENSE

(Transitive verb)

LS J!
unhon pankh |khareeda w7 L& U
fum  |ne |pankhe |khareede |c 47 é, f’
aap kursi  |khareedi |$xs |u5) -
main kursiaan |khareedeen| (/47 UL/ o
ham d

Note: 2nd person singular (plain) is as follow:

US
" unhon
fum
aap
main

ham

ne

pankh
pankhe
kursi

kursiaan

khareeda

khareede |c 47

khareedi |$x/

khareedeen

‘et




STRUCTURAL ITEM:

55
PART Il

Past Tense ( Transitive Verb )

To eat l:lA/ khaana

Vocabulary:
orangew"s e
orange:;‘ t 2
ice cream+ 5t
carroté  Z€
carrots¢-® ( Z¢
egg | m-s) Lkl
rice\™-¥ s

fish +-¢ &
Ivapes) m-Bp 0
all

——

malta
maalte
ice cream
gaajar
gaajaren
anda
chaawal

machhli
t\\;\ﬁsob\’
Sabn

ol L b A
ALl 1B

oYL A
-Ju/ﬁj'béri_gn:B



-~

56
s L Uiy A
e i usB

o L U7 A
Y L[Zb/i_uj;ﬁ’:B

WL T A
Wk B

LGS STA
e AL s
Exercises:
Q1) Fill in the blanks with different forms of simple past tense
using infinitive " LU/

 J— Y i sl 1

JE— g/ujfj_mzs
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e J1 2 U!,‘.' ‘4
O J28 i U5

2
p— B u,él:g

Q2) Answer the following questions:
oW b o

Sl

s L U

o o U

oY T

Y

- S N,

WL gd T8

g 00 g RNWON



STRUCTURAL ITEMS:

58

PART Il

Simple Past Tense (Transitive Verb)

Vocabulary:
to take,buy ¢y

to give 3]
to drink [
to eat break-fast £t/ (5t
to clean £ Uil
to iron YT § 21
to s

coat w. -7 ¢,/

clothes w-P o /‘;(
pant £.¢ oLy
socks wW- 0 piz

sigarette w-<-p q;

Super market ¥ 2.0 7=

lena

dena
peena
nashta karna
saaf karna
istari karna
ko

coat
kapr'e
patloon
juraaben
cigarette

super market

S ol S L FA

c Wesllgoef i tB

Q.AGUL‘{G{:LF:A
demie i 4B
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?déuqﬁgﬁ‘—?:A
-dc.}.’JJ":“,:i_uf:B

-dcd{/ﬂufﬁ/gLu:IB

LS L TY A
b Leald U gB

s db T T

<l 2aldi Uiy g B

?(f;uﬁ:[(}L?Ty/:A
-d;u:gclé’_u::u!,&:B

7
. ; o 2 .
¢ o)l Ve L LW Sy sl & T A
Uz L Ut e UL 6B

omd T A

“kow Lyl G B

Ve D ol A

-%;‘4;»2__‘}::8



YufdifJ?upL.,T:A
-Uf’u.fL;S:)J7upLut:B

TPt YA
: -gl‘;tLut«u[,&:B

L LA
Lo LAy dB

WSl el FUA
ol gl Loy iB

Sl ukS LA
A SbuS LB
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Exercises:
Q1) Fill in the blanks with differernt form of simple past tense

using infinitives which are given in brackets:

[(#) $ i éutfféjdi_r”r:.]
(7)) E— < i @}{:Lu.’.':z
©H e - A
) - '—-—dﬁd{&é-l’uf(f,i.u: 4

(k) o, Y eyISe b.:,T Y 5

D) s lreldi 6

(&) ¥ oo U,I;/J:g__{rgﬂ
() b o sesmmein 2 et i U8

(ts) S o I .’,T Y :9

(t) . e K 0 i Ut 10

() L—— AP _?,7 Y 11

&)) I e U 12

" (7)) S P F 3
(S i) — A 14
) S € o S LY s

Q2) Answer the following questions:
sl W oS Ly
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Ve uf oo
\‘gzjc,ut[ufo/,i_f'ﬂ
'?g,;gfwi._;fgzs

?é_;z”_;szi..,ﬂ[ﬁ

Wz el JTY 13

?.(.,; 238 o ;“,T l_cr 13

=

foy wc K b T Y 114
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LESSON 10
STRUCTURAL ITEM:

Past Tense Verb (to be)
The past form of the verb " to be " is given below

according to the number and gender of the subject.

were m-? &£ the : was m< £ tha

were ¢ u.‘.; theen { was §.s d? thi
Vocabulary:

sunday m 5 itwaar

wednesday m 24 bu'dh

hall o O hall

monday ~w peer

embassy ¢ <"1 embassy

rain ¢ Uk baarish

sunshine —f-\ - dhoop

night £ <= raat

function w function

oo F S ATA
-7 u: A NTIN

0 U F LA
~L;?4/J/UIB
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& U & S oxiA
-& u: J:ﬁ s :B

?u.‘.;’ UL‘( L sl (:p ‘)( A
Y- s s B

V- Ubg( S T f' A
BULE B

wf U € 7oA
S AEILB

?u,f«éuﬁ’uf?:#//:?rA
GEEAL Gt B

?u.‘.";ut{ff‘%,T:A
VIR

& U DL TS A
s uﬁ}’) s B

LG TS ey
-df?gfwuw-:B
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ey W T Uben S A

& U o TS A

-é{j("éd"tﬁ;{jjhﬁﬂ

?uf? - ?,«_.:,Tf el A
WHensf s
Exercises:
Q1) Complete the following sentences with relevant words,

which are given below;

- -

S-S -c-u

e W E S a9

S U S L2

S ul{?éfa»eiS

€ L st Lo F 24

S u[,‘,(}([.’:u(m)r.;:s

. u:éK(m)utﬁ

 — W T ofT

R S o8

R ui"uﬁfb (}n).;ng:Q

e A e s e @ U~ 10

S s ut’ﬂ(;‘ﬁ‘(ﬂh{‘r"‘l
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O N 4 LTS 12
S 4/!//‘0’15/?,7/({5([:13
R Jher F 14
N (AmpE 15
e U B 4 116
Q2) Answer the following questions:
Gl S
o L2
& U L S ox:3
UE U L sl e F 4
AV R P
W U € F e
Yu{:éuﬁ’uﬁ;‘i‘;fff/:,:'/
¢ u.‘.‘? S J{‘ .?,T :8
& U 0 .__;T ' Jen 19
W€ 4 A8 TS ey o
e (P W eT e S 1
& U o <7 S 12
08 U o T 2l 13
Note: " &"and" u:‘? " (were) are also used for singular
person to show respect. e.g.
& A
A 4} Jr:2
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The past form of the verb " {» " 'hona'. to be:

Sing (masc)

sing (fem)

plu (masc)

plu (fem)

2nd PERSON

Ist PERSON PLAIN HONORFIC  |3rd PERSON
B Ul o & U f & U T F Ul 0
main udaas tha |tum udaas the |aap udaas the |wuh udaas tha
| was sad you were sad |you were sad |he was sad
(f Ibl ui; u'l,;r"' f Ui T f Ubl e
main udaas thi |tum udaas aap udaas wuh udaas thi

theen theen
| was sad you mbre sad |you were sad |[she was sad
E i A & U IJ' & Ul .?,T & U s
hum udaas the |tum udaas the |aap udaas the |wuh udaas the
we were sad you were sad |you were sad [they were sad
(&) u? Ul (A N4 JI;IF ui Uil T u-‘-} Il s
hum udaas tum udaas aap udaas wuh udaas
theen theen theen theen
we were sad you were sad |you were sad |they were sad

Note: Second person singular (plain) is as follows:

fem (sing) masc (sing)
f bl 3 @ Uy

too udaas thi too udaas tha
thou was sad thou was sad
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LESSON 11
STRUCTURAL ITEM:
; SY
Past Continous Tense:

~ he was eating breakfast - Us |,/ (5t o
Vocabulary: ‘
cricket S cricket
home work i1 J¥ school ka kaam
music £ Soxt music

»

television m-s-¥ (G- TV

drama ~. 8 b3 drama

Tea & il chaae

film &5 fj’ film

to eat break-fast £ e naashta karna
to do 2 karna

to take rest 7] (LT aaraam karna
to play L.L.‘{ khelna

to teach bty parhaana

to hear, listen o sunna

to look, watch, see taf; dekhna

to make 1> . banaana

to sleep % sona

to sew, stich 74 seena

to L)”\;L—/ )"QPMQ
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SGp SV L el 20 ub A
-Qé//l.‘;bulB

oW S VS ea U5 A
-d;’ v S (‘JT 01 B

?é‘cjfgx.bu‘d‘frlﬁil\
& ‘LJL}.'.‘{-.‘/UU};)) B

SUZ S S e st LA
-u.'f?(j"J/rKKd:éuiB

G o, S Y TE &A
by S ug B

?Q.‘f;(ﬁ//g_?,l'f(@f:A
-u‘?wa_ﬁgu::s

?é‘cj//géﬁ"”r’-'/\
-mu{;w;{d,—éuﬁzs

W s SV LA
SFouip s
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?élnglff/;ub.—/.;TIA

-ég.er‘/ﬂ ‘B

YU?%’//&(&){%&;T:A
(e eise i B

& b U o F S A
iUl L0548

Uf Gl o P S A
-(ui(ﬁj)éc‘;/lg&s),‘sﬁﬁ

Note:
The past continuous is formed by adding 'rahatha' " ¥ 7

to the root verb, according to the number and gender of the

subject.

Exercise: .
wifk
Q1) Complete these sentenceslappropriate form of past

continuous tense using infintives given in the brackets:

) | — &féw«l/i/‘l/ﬁ;uﬂ
(t/( Ufb) R, 02 ;2
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) A VS e 1513
4 (L) e s 4
(7)) Do N ' e 5
'(L',Lf) PPRR— I bl 6
(7)) € Wb ot S 7
&S ) T ¢ JE UL s Ll 8
()] ST Y&rz &g
(tlo) s Vil U u:m;m
(70 N S g;f’[rlﬁf:n
N € . U £ 2T 2
(ed5) e, ujj{d,-é¢;13
(7)) A g .8 é.l: ;’* 14
(bt [ — b Ji' 15
(7)) € e Y S gw o 2T 116
() g —— e i 17
(7)) € e VS o ST 118
() s 4_/‘—':;7;19
(tl) S oy bj‘; F 20
(te) - L £ i 421
(te) S s o o ¢ J (L 22

(u.,) : - SRR é; KE (p‘ 23
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Q2) Answer the following questions:
e S el 23T b
s @ S 2
?éc‘.//t[w/,’d‘frr‘zs
s o S e ls f G4
e S TL &S
?u:‘;wflf.;,ffr&gfzs
Yéﬁ.c}.x/lféifl;'ﬂ
(b S L8
‘-'é:;.//l[fﬁ;»_./..;ﬁig
0 s S S 7010
& e Ul o F S
wf G Ul o S (112

~Not2 -

: éf%;i_{?(«_(éd)égvrb @ = |
9, WK above Contex t .“ 4_2:‘ ’ (:}or) w
omifed , So L,,:;’ » dmuje_d Wl

RN



SING(MAS)

SING(FEM)

PLU(MAS)

PLU(MAS)

73

PAST CONTINUOUS TENSE

main ja raha tha

tum ja rahe the

2nd PERSON

1
Ist PERSON  |PLAIN HONORFIC  |3rd PERSon
A~ Ecibf Ecib |Gl

aap ja rahe the

wuh ja raha tha

ham ja rahe the

tum ja rahe the

| was going you were going |you were going |he was going

Fowed |[Foef [Loee [Fbn

main ja rahi thi |tum ja rahi aap ja rahi wuh ja rahi thi
theen theen

| was going you were going |you were going |he was going |

il (i Ecibf Ecib |&cibn

aap ja rahe the

wuh ja rahe the

we were going |you were going |you were going |they were going
Lwea [Fwef | el |[Fwen
(&) tum ja rahi aap ja rahi wuh ja rahi

ham ja rahi theen theen theen

theen

we were going |you were going |you were going |they were going|

Note: Second person singular is as follows:

sing (masc)

}ir:g (fem)

(}I(ﬁjlg?

too ja rahi thi

thou was going

W&)lg?

too ja raha tha

thou was going
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LESSON 12

PART I
STRUCTURAL ITEM:

Future Tense

v L JFFeTy A
Kb JFuU & B

Wz JEF Ly A
S df Fueu i

LSt L LIV A
LSt S 3B

W U st YA
L S U8B

L L A sy A
L LU 6B

W L m ety A
L iy GB



75
L LW E LT A
KUt LUl 8B

o Lo ¥ € T A
B -Ju:bib/d’u‘ <UL G B

<! Zu‘lou’ —JJL\_—-\&_"M A
[wb(}" J" Bl ULG . B
u’c,mu._/.,,f Y A

~((f)2:u’laufﬂf7<u S B

?Ziflg..@(yff'g:A
¥ Ul & Ut Uy 6B

Wi G F A
Sk G 2ty sB

Ly FUA
LU ey B

?Jf‘f’tf/u./ﬁlf»‘\
_(J)Luj’gd/ﬁ:ug‘;;s
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Exercises:

Q1) Fill in the blanks with different forms of the future tense

using infinitive " tk ":

O i 0 _f,‘[: JUZ U 4
P -

Q2) Answer the following questions:

e¥ L Fely
o Ll JF Ly 2
LS kLI 3
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Ul Ut U
L LeHa 5
?J u_*’t,, MLSIETY 6
LSO E T T
WL E STy s
JAV DN g
W e et e <7 10
?ZS@.@(,TFLI:“
W S o TP 2
Lo F U 13
ST AN g



SING(MAS)

SING(FEM)

PLU(MAS)

PLU(FEM)

78

FUTURE TENSE
2nd PERSON

Ist PERSON | PLAIN HONOR’FIC 3rd PERSON
€ Ushn U L s f' L i ' € < Jssos
main daur'oon |tum daur'o ge |aap daor'en ge |wuh daur'e ga
ga
| will run you will run you will run he will run
J Usi o J u‘uf' J U .?,T J & Ja 03
main daur'oon |tum daur'o gi aap daor'en gi |wuh daur'e gi
gi
I will run you will run you will run she will run
L yin gd L in F Z i < Zyimw
hum daur'en |tum daur'o ge |aap daoren ge |wuh daur'en ge
ge
we will run you will run you will run they will run
(O o | m Sumet |Fuwn
hum dauren |tum daur'o gi aap daor'en gi |wuh daur'en gi
|ge/gi
we will run you will run you will run they will run

Note: Second person singular (plain) is as follows:

SING (FEM) | SING (MASC)
J & s ¥ € lnd

too daur'e gi too daur'e ga
|(hou will run thou will run
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PART Il
STRUCTURAL ITEM:
Future Tense
Vocabulary:
. ™S

‘magazine Jl~ risaala

X -\ Y TR o N (- (111 -8 “"/r‘j tasweer
\To\'l\.\(ﬂ.—qy\\}.: >C)l9"’ \wka haay P *

€ Xawination dena :photograph
to take,buy () lena pictures, 7 (¥ tasweeren
to S ko :photograph 5
the ‘same (! isi -bread +-$ (351 J' double roti

-bakery €.¢ d/g bakery
Bid dress™ T 7L 4 eid ke
kapr'e
fruit ws© £ phal

‘radio w-5-P44s  radio

o s S YA

- g?.: VD/}(DUM:UQJ.:B
o el by A
S s S somwef 6B
Lot LI ur A
Lo deUie Uy 6B
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?JL[JUG”‘J(/J’J”“U([}'L[:A
S woBrde 51w g8

Lo des & TY A

Cun o S ST UL BB
W s e e LT A
-Ju»uﬁ/'q“/rz’u/:,fu.’::B
L wghs f 4o F YA

K Uunibial gt UGB

W ot £ Z Sl A
S untd 2T B
L8 U A
-Lq;&&fu»g/rtﬁ »s B
Bt L S LT e 1A
-Jq;mténga; B
WLl o o Ut A
KL = S 5B
WL U I A

A Lo iy Ko 0s B

LA e o e TA
e o B
?d/uéc—u&féu‘f:‘gfil\

Sk sn
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?ﬁ;’._bfc_,‘jff:A
Huded s tB

Wl Ly f:
-—(fujctff";tﬂi
?idfuft?fr-‘fb/:«":
-Zﬂu}gcqu(ﬁ?q(‘:
of Il e v e

S AL 20

w > W > W >

Exercises:
Q1) Fill in the blanks with different formsof future tense using

verb " k"

Co e g e
J—— e Y
 S— wn LS vy 3

§ i s g e oY 4
oo e . I & @ ._;T Y 5

- R i d 6o +f L 8

B oo e q*/,ﬁ,,u:‘?m_?jg:?
I —— u,?’d{,ﬁ,,f(f):,TJ:B
Qe oo 4.’».“./’(»““"1)(“":(:9

€ s wféé{/wﬁﬁ:m
€ e e G&fu”;zlf(lﬁlf_:ﬁ

€ e e St L & S T vl 112
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Q2) Fill in the blanks with differernt forms of future tense using

verb " (4",
 J— = J Uit - (Vl 4
© reeeereesenenn e U s o i 2
L e Uy b m .;,T -3
e R & uf‘:( Ll m L4
€ ol ok o1 B
e e B it B
7
:8

e 2 e b L
® corausenes &{LMLUL{(OE’IQ
F—— & Sk o» s 10
S G = cole (2 o 7111

o s H_C = & ul;'/ﬂ 12
Note:

If the root verb ends with vowel " « " (e), e.9. " «» "

(give), the vowel " <~ " (e) will be removed and future tense is

formed by adding " ¥ < " (ms)
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PART Ili
STRUCTURAL ITEM:
Future Tense
Vocabulary:
wm-sP o .
€xovwifale, WEI1 imtahaan : shit £.¢ u‘»} gameez
tea £ &Lt chage : Bid {5 & eid
. $& o
coffee f (¢ coffee : shalwaar 0 shalwaar

guests,w -#Pyle”  mahmaan : holidayj 'FU.L?Z chhuttiaan
to stay t#  tharana : hotel ™7 J;z hotel
to(read,study) t»% parhana : winter F UL sardiaan
to make (i babaana : snow fall 4'15;!,5/. barfbaari
to go back (b Uels waapas jaana.- Hvs- wife (.L//»' be,,.aaw,

toreturn  tT (%ls waapas aana

to meet b milna o film wee rj’ film
with £ L kesaath : pant -5 % patloon
alone “ZI akele

> -
. 2. : Soma— £ kuchh
shopping ¥ &>  shopping :

shopping i $ix7  khareedaari
things € ‘P (/Z cheezen
clothes ~7«_#~  kapre
shoes =7 L2  jote
sweater ws'rjzr sweater

jeans €-s &2 jeans
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(i)
YdKLngZu’vtfer‘i
-b’u;_;Lk 0
S‘Z_J‘Jlfafvz_/_g =T
S L ALzt

?Lu‘,b‘/ilxéau)i.:
~n-—§(d{u3

(ii)
Uresb e ?T

bk &S (A e S o A

0§ s JZ2 Y L

S si 2 e 15
P JIgn &

K n 2l ks
YLU:J;].&{.;T:

€ Ut P o
YJJfUHfJgTJ:II
-Juﬂjgﬁj My

w>bbj$i:i:'>abjébb>

W > W P @ PP o P o P
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(i)
LS T U Ut A

K Uik §r Ut

L Lo i Ty
-LUfllﬂféu’fg‘ui‘; S
«:ﬁq/u)?:ug,.;,fz
Ly oA

Ly rdn T
Lyt S Lem i G
L b T
LSS Han.

L Ll Rl
LTS Fub 21 s
Lsee FTy
LLoa KA G

U g ud S U T
-Lf.?‘f—/‘?é)dﬂéf.(?:

(o TS S+« B T « « S T« - B S « < B T« « B~ o < B S o |

(iv)
oL }"’..() fb £ &)-éfab &7 L«;( A

Koyt b ud o A B

WLy ol Fn
Kuryd vee ue F B
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?«fﬁaz_g,/((ﬁﬁg:
sk o Ll Lo

td sk

otk 3¢

Sus et S L e

t

o)

v)
vfu:‘?mgiv;/;?ﬂf(t}g:
e T d e B 8 Ut S LT
e T W Wl T LSS foe F7:
-u“"‘ajfg,gfj:;,,:
L L e s o i
LSS e
Sube T F Bl i
LA S e

(vi)
L Sr & TS e
€ Uiy Z. u&f o

Wiy X ¥
‘B

-uju@’léu’(gﬁffxrfé_fc{)u
Wz F
g H I L 5 S ey Sl

A
B
‘A
B
A

> W r»r W > >» W >

> W >

A
B
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Exercises:

Q1) Answer the following questions:

Ut er b U T 6

W ear gz v

e ss S 8

L yat <79

ol Y E S LT o

Z Loy T Ut U 11
LS LTy 2
L o & U T 13

LU e LT 4

C S S ST 5
LT U sl 16

Ty ST 7

Wt e ud U Ut U T 118
L oA A G-dfe &7 Y 19
L 2y ud # 20
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0 gzl S Py 2

ol Uy A ep A 22

et T e U ol £ 723

LS S ol £ T 24

LSy £ E TS =25

Wirs X K26

s o2 & 21
3
Q2) Fill in the blanks with different forms|future tense using

infinitive which are given in the brackets:

(ts) O VS e ST
(t) e il %2
) i ALl T3
(tx)  J—— VK T4
(ts) (I VS 75
(") s VA L oo ¢ 6
(tx7)  — JZY 77
(tx5) S L 158
(tx ) S Y 9
(tx5) . — Y 27010

(%)) [ ‘j!./ al U!L?— J/l:' A4
D § Y ES T2



T U T U 13
R d/uf:14

(e SILTY 15

L SRR u"{ é 238l fg 16

S e u,{uy’g" 17

— o oF (718
€ e = U 27 119

© i (15 £ d,—d ) Z-/T g :20

S u:f("'%:m
C e u,f’:’:22

—" u:g,m(%ub"'n/;&(:%
»l

P L e Fy 24
T e 2l Ut et 25
T 3¢ k26

............... Ay B e g &1 0\ 27

B e F S 28
e, Z._:_éf;f;(.:,bﬂg

R 2w\ UE30

€ £ ;32
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LESSON 13
STRUCTURAL ITEM:

Future Tense |
to be Ly howa, 3“’&'\")’9‘ \;)\7‘):7 Klada a2

will s o eanly SA7 ke

¢
will (g L. 3e
will  (fsp) d/ %\

Vocabulary:
to rain bre J‘/; baarish hona
holiday " * 4% chhutti
function ™ U’G function

?(ﬂf?;wd{g:A
-9.&":&(.5{(:':4;3:‘%&:8

of vy S Sy A
_Lf)’i{/ftf"/u‘u%lj-iB

?Zunu.f}‘%‘&"ulﬁ’lgfg:A
Lun SPGB

0 un EJE S B L sl L A
SunstdFnou g B
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ol U U Ut U s A

W un S8 TIE Y A
..qu)*:{/fu:u{,(f.:B

Wi Un{/fd{z”d:.;ﬂf:A
-ZUnu.‘.'}.’Juruﬁ;J.IB

?iuxu:éK?T//,»l[:A
KU LK G B

W w2 K S LT A
-JU”{;U:‘U?’&:B

Lun g S e LTY A
Lung L aouan

‘-'Juﬂ{/ftffs./%f’y/:A
-(Jun)éu:fgjd”:(hul‘.‘f.:s

'?ﬁxu.’f._bxf(f’."f'g){g:A
-Kuxut.:;:‘uu!u.’:‘u{,&:s
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?kfnuﬁé:fu“’}fﬁfgil\
SundtedHAE 2w eB

?u(mf/&f‘f:f\
PN/ e

Exercises:
Q1) Complete the following sentences with differernt form of:
" { v
S e — {/J/ 4l J l.(r 1
€ (A E sy 2

R J?Jﬁ‘/uffv’tfgﬁ
§ e VA S B b i 4

P S LK m TS g7

€ S Fo Ty 8
R {/frrzg

S J.“,.;,,;‘ﬁ(m)("’fgﬂo
€ u:¢,:(j’}dfmﬁ‘)‘g:11
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Q2) Answer the following questions:

g A ue F U

§ ey S FE sy 2
?é:unut;%ff’j,fr";‘fg:s
o U LU S PE UL sl 5 S 4
?Jun{fdtJ.?,TI(’;'g:S
?[o,qu,yég,fg:e
?Z_’_unu.’:éK.?,Tf/:;»gﬂ
S‘(fu)fgﬂéb’(f'{:ﬂlf:&
?iun4//_~,u_/_jg:9
o w4 SV 10
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:Future Tense:

The conjugation table of the verb " ts " hona (to be)

sing(masc)

sing(fem)

plu(masc)

plu(fem)

2nd PERSON
1st PERSON PLAIN HONORFIC 3rd PERSON
(_UMU: L"'F LUM’;(‘{ h’)fn
main hoon ga |tum ho ge aap hoon ge wuh ho ga
I will be you will be you will be he will be
Sunt d’nf’ Jun;;f £ 5w
main hoon gi tum ho gi aap hoon gi wuh ho gi
| will be you will be you will be she will be
‘f_uyz,‘? /.’.nf’ LunYT L Une
hum hoon ge  |tum ho ge aap hoon ge wuh hoon ge
we will be you will be you will be they will be
(J)ﬁun(f d’nf' d’u’z_’fl’ Junu
hum hoon ge/gi |tum ho gi aap hoon gi wuh hoon gi
we will be you will be you will be they will be

Note: Second Person Singular (plain) is as follows:

SING (FEM) SING (MASC)
J ny ¥ ny

too ho gi too ho ga
thou will be thou will be
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LESSON 14
STRUCTURAL ITEM:

Subjunctive tense:

Vocabylary:
to walk 4 chalna
to bring ty laana
to stay t:[;‘ tharana
to make Cb: banaana
sick yi'd beemaar
health £ =5 siha -t
God m-s I khuda
birth-day £.9 oﬁlx saalgirah
holidays .. §-°¢ JE chhuttian
to rain 7 J/l, baarish hona

to give/ ensure (success) S — ¥ kaamyaab karna

to take an examination ks gl imtehaan dena

signt Swing,walk -5 sl Y

to permit by =kl ijaazat dena

to send ke bhejana

to get late bye 25 der hona

perhaps s shaayad

must Vel zaroor
'\V\§‘—“—uﬁ; W -s-P LJ{U“"“ st T

oquicl 2GS N2 Juldi se.

\NAYY)I (msmt{' \akion - ._th.. wmubaava
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Subjunctive Tense for asking permission and giving

permission
ey 4 FYA
U B
- Jgos A
~iboscZB
vy 4 Sy A
il snB
e A
~& s 2 J/L BAgy u:/lp ~ B
s Ak UZ YA
-uf/\g 2 :B

susT it YA
TN UGB
suPy O LY A
Pyl B

Wl S YA

Lol AT UGB
SIS LS A
APy PINE:
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Susk AL AL L T YA
-‘j}: u) ‘B
e F e A
- :B
e b A
-&;, ¢ 0B

VIt L LT YA
-3y (f’) ‘B

Uik i o L ST B A
| EIERY:

e 1l 1 ¢ =TV A

- W1 1B

S Ol LT A

e Sl e ey @B

S e ) £ Tu A

S G e e Jb & B
Subjunerive feuge fov  Commmand

W Ul b oA

-U» zL U2 B

-;ULJ?C_Q/;/F:A

~Un byt 5B



98
LT =T Ui A

el GB

SPGB L el (e 5 e Gokd £ A

—us Bk S Ut < B W B

Subjunctive tense for advice:

fusd Ul Uk o A

AY () B

Sy M3 U A A

Uy A e LT B

s o Y A

-J.‘.”’g u.‘.‘t’ Y __:,T ‘B

o L LA

Ll iy <7 B

tf e 0 o A

U S L U T B
Subjunctive Tense For wish:

fe L £¥ _;T A

_‘gj-ulB

May God bless him  _s % < I 14 :A

s



a9 @

SUPPLEMENTARY

Subjunctive tense for command

Vocabulary

to PYchjnake ready 6/ W taiyaar karna
to wander, walk about ¢4 phirna
to walk e chalna

Yo be spoiled by, 7 kharab hona
not = mut
to become weak by oy / kamzoor hona
cook - JG khaansaaman
eye sight £ Y nazar
grass - u’l«f ghaas
much 131%; ziyaada

-L.—/(JLIM’/.‘U‘)Z(L)’LF

-z../zgl"/:'tlﬁ‘uuz’/autuuf'

Ao Lol o S o e o T
c;g/?uff[‘u:‘?.:{mfu ,J{J?(cufﬂ_j
-Jﬂvl}u‘\f
Laf;u,-éa,gjfy."‘w"{:;d)—éo,I[c,u:fﬁ
e bt
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St s Wl E 0l
| am having exams ~Us [ s g1 K
Sk T
e ff STT Y
- J/L/dﬁ'zﬂ«u&di
=97 JV o/ﬁl/ s :—T :
- :,/é A

When " may " denotes doubt or uncertainly the word

> W > W >

@

" 4G " ( perhaps ) is inserted in the sentence as:

WL JFLTFY A
“Zlw sl B
?Z_u:/lgui..f/&frtié;g:A
Ll sl B

?Zu:"g(“?ffaugf:A
urs Ut 4t B

L LG LUt CTY A
-u_f/lg (7.415 ‘B
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Yfﬂ{jéiﬂf(gﬂfgﬂ

~¥ 03 ,.b_u ‘B

Loun M A
-U» 03 4 B

0 un it JF TS A
-Ux 4 B

?iun{/(q?TfabglA
-Un () 4B

?Jﬁnﬁ@fl./i/\
(2 2 JAMTE) - n 42 B

Subjunctive Tense in the Conditional sentences:

\

-uj'{gﬁg(?}q, el ,?,T f 4
U e T T Yo A
VI d eI Ly i T A
A Pt FLT L
S LTS A

W > @ P
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Exercises:
Q1) Complete the following sentences with appropriate forms

of the subjunctive tense, the infinitive are given in the

brackets:

(u,) /f d’ L_f( o |
(t6) L A FEuwy 2

(tl) — LA &3
(te) e MY 4
(D) S5
(t7) e 2L :,T 6
(l‘fﬂ"{) © e S l.[ 7
(boy) [ (f’) 8
(1) A — Sz A A Y 9
(1D) € e /f L _.:,T A F Y 10
7 [ VY |
(%) . My S T Uiy 12
(be)- T e 7‘( 13
() § & e 4
() £ s ¥ by sl 115
(ty) & s gt d L ST Uy 18
tw) - b(r"’) 17
() B s i-.@?é-ﬁgfdk[ﬂs

(tbse) R (f’) 19
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) o) € e K LT e 120
(72 SN $ v 4_{ i ?:,T 0 | 121
(D) JE— Lﬁc;/ﬁjzz
) I ubf U.‘.’/ 28 23
) e Ubs (F) 24
(k) . [ A1 Uy 4 25
(toy) [ el <126
CD) e fb ‘j[ 727

(ed ) e (" wi) T 128
(te) S L L & (7129
(L) € oSS 4 30

(s &) e s <l 31
(S —i6) e ,(_;T L 232
(t) R S Ao -7 133

(tl) e 0 415 134

(tl?) e ,F,' 4 :35

| (t{,) e S 4136
(kL) S A 4L 37

) R {/ ,i 4 :38

(tx) s 0 }'», of,,o,l? :39

(t2) R 4/ P 4 140

(k) e J Do 4_/?:41

(ts2) e j,& f A& 42



(blz- &) S b AT =il T 143
(ky-(T) o 5 7 | — Jle o 144
(1R 7 p— oo g F Ay T 45
(ks - £T) DA 7= [ p— Fay Ji 46
(-t e e 3 s o 4T
€] — Bte g & oz T 48

Q2) Fill in the blanks with appropriate words:

L(n-JUM-LUn-(n
S 4/’(5(,%_;7‘)*({:1

L AR e ?’[)/’/"IJGJLIKZ
€ GUE TS e 3

C i {jvﬂ*"}(@'jg4

Note:

1) In old Urdu subjunctive tense was used for present and
future tense, but now it does not give the meaning
of present tense ___. It is used for different situations, for
example: Permission, advice, desire, wish, need, intention,

order, doubt possibility and conditional sentences.

2)" 2 " (not) is used in subjunctive tense.
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:Subjunctive Tense:

(This Tense has no Gender)

2nd PERSON

i 1

1st PERSON|PLAIN HONORFIC{3rd PERSON
sing(masc) Uil U S ¢ Lol |2k »

main jaaoon (tum jaao |(aap jaaen |wuh jaae
sing(fem) |3l U S ¢ Lt (2w

main jaaoon [tum jaao |aap jaaen |wuh jaae
pumase) L sl (LT (UL e

hum jaaen [tum jaao |aap jaaen |wuh jaaen
pufem) |y @ |5l (Lol (U e

hum jaaen |tum jaao |aap jaaen |wuh jaaen

Note: Second Person Singular (plain) is as follows:

SING (FEM) |SING (MASC)
b 7 b3y
{too ja too ja
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Subjunctive Tense (This tense has no gender)

The Conjunction table of verb " b+ " (to be)

2nd PERSON
. i

1st PERSON |PLAIN HONORFIC|3rd PERSON
sing(masc)|Ux - P SETS R Y

main hoph  |tum ho aap hon  |wuh ho
sing(fem)|Us U« yzf’ Ut “:j Y

main hodn |tum ho IMP hon wuh ho.
plu(masc)|us (4 n’f’ U U 0

hum hon tumho  [aaphon  |wuh hon
plu(fem) |Ux (7 P Ur i |us e

hum hon tumho  |aap hon  |wuh hon

Note: Second Person Singular (plain) is as follows:

SING (FEM) [SING (MASC)
vy vy
too ho to ho




STRUCTURAL ITEM:
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LESSON 15
PART |

‘Helping verb:

to want, wish

t«;_‘f chaahna

Vocabulary:
to meet Ch milna
to take rest ¢/ (LT aaraam karna
importance £ el ahammiyat
with pleasure < J# shauqse
admissions &1y daakhile
to take admission 0 Jb  daakhila lena

T bl th Ul Ut

~¢ Lalp bl il 0s

e St I Ul

-« Sl bl Jutfu :

LM d Sea Gon G S0t

[\x
&

gf ! 4l 2l d‘ :

o 2y Ve o
St Gt 6 UL s
-t “‘Lo t{: b5 4 Us= oo

Ut

S

> w >» W »

W > W P



ot Gl b W T

3

e W e & U B un G b Ul

(
C
X
o
5
g.
\w-
\
QE‘
S
w >» W >»

T 2 boy b Y ¢

U bl oy s S 1 Ut

e § by ol Y ol

~Ust § boy ol B

W 2l boy U S2H Ul

ety Aind Ui ettend 628 S o :
-t

—un b t7 5 LT

-u:/T 3% B

@ > W > W >

>

Ut §fl boy ol = T A

= G"'.lg Cd Ly o gl—r:l 3341 ut[}’ <A
gL BT ST LB
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Suf &l b ol O T A

-Un Gl ol Wbl o

St el b Ul bl T
—Ust Gl Wl e U Q6L 2

w > @

(
n{\'
1§
3
G
LN
N
-
S
-+
¢
4
=
€

U Gl b ¥
Gt K LT
Ut Fl tloy U :

Ut Gl bl U T
Ut Bl by Ut K

> @ >» W >

Exercises:
Q1) Complete the sentences with appropriate form of " Ll "in
the present tense:
o R tlf, Al J‘ 1
s b U4 Ll 22

— S b sl (F13

B et ¢ W UL sl L1 4



© e e/g_';:’ =y U135
e L‘,m"{ A>l T:G

€ e t/g_fj -7

[ .S r;ﬂj::s

(T Loy Wb U”;f';:g
R by s Sz A P 10
B toy WL g’]? 11
R by L &Zﬁd’f;:nz
[ boy Ul S Uds £ 113

P 6zﬁﬂé‘_gl‘§_¢gldeyfng:14
i oo i LT s
S Lp/,ylc,ul u":16

T —— e Qe £ T 7117
DS Loty U et s U7 118
e bk b (f/:,r 19
AR L,,F b sl J"‘ 20
L u}/’ u,f u\,, ) ;T 21

e B st = UFF Qe U 22
€ s b U ZT 223
— Les AT et A 224
B b U LT (L ;T :25
R e 1 u’f‘;ze

i bl ¥ I T 27

Gy



F

R — tloy U~ 28
€ e oy o’ C:,T :29
—— tlo e é{ J.f :30

Q2) Answer the following questions:

fe b bl Ul = U1 o1
fe e tle LY U152
U 2l b b 3
s Btk b)Y Ul sl L4
b :5
6

7
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W b b U T 12

Pt 2ol b ud AT et T 13
g G S e T 14

fur G by O T 115

Note:
" bzl " (to wish, want or like to do some thing) is
expressed by the infinitive of the thing wanted plus the

appropriate tense of " Lq_(g "e.qg:" U L"qig Le‘../’ Y A

khkkkkkkhkhhkkkkhkkkkhkhkkkkkhkhkhhhhh

PART I
STRUCTURAL ITEMS:
need, want s &b chaahie

need, want p L,C?'A.lg chaahien

Vocabulary:
how muchu':{ kitni sugar £-¢ (5% cheeni
w--P
how many&f kitne : money(paisas) <« paise

¥

milk m-S 20 doodh
cake m-s-p ..Q’ kek

rice  ~w~S:-P J)'lg chaawal
sP
news paperw /31 akhbaar

-

thirty L tees



Vocabulary:

112

thirty six U=% chhtees
rupees -P & roope
kilo £ kilo

litre M leetar
big %2  bar'a
small ¢4 chhota

name of ,m b Jang
the news paper

@

-&- 29 & A

200 (B

-2 A
L84

..d.:_.u_ Uf.:{ b
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(b)

- w"}g L&A
SUF LA o‘;f/_;f B
-u.?-/‘{g JEO d/ sl & A

(©
Ul Uik & A
‘Ul U LS T8
-UF J:,.,lo & e & A

(d)
S Bl gL L T A
ol 31 L S cTuéB
- BIET” LA
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Exercise:

Q) Fill in the blanks with the correct alternative given in the

brackets:
(% - <) T l;.f S _’,T 1
(&b - U T L2
(Ul - <) e P
(&b - %) R &4
(V73 TP R— RO o s3if o5
(g-k - ) i Jk £ 6
(U - <) S VLR S

Note:

" &L " (need) is subjunctive tense of " ;1> ".

-

*kkhkkkkkkkkkhkkkhkkhki

L]

PART Il
STRUCTURAL ITEM:

should, ought to &k s chaahie

should, ought to J¥'bp  chaahien

Vocabulary: ?-
towear, to puton i % pahnna
2 winkey £ P QLo Savdicaw
to take td i lena - /i -
% Sumwey -9 (_)(:-_n/f gar miaan
to be, exist bae hona
early d,dv Jaldl

laks. z_-."_/> du se



115

Vocabulary:

medicine ¢
warm clothes

sick, ill

) dawa
e P
e /‘,{,/ (/ garm kapr'e

A beemar

leisure time U =3 {6 faarigh wagat

study time o & ¢ Gbug parfiaai ka wagat

Ut hlk | u,,,f JP S ?«7 A
U = p B
—e b G S CTA

&b o s (ff;4 L Z -0 & A
&b b{) W5 2l u,?'? B

?ufg(%)é%;{ifufqﬁugyﬂ
B A CAY- P SO RS GV VIR :

?%tgt/gfuﬁ”’:u_r:‘_/fwlﬁ:A
-l () d})i i _;7 B

el 6/ Y Ut e Bk U A
S Py S T8
sty @y o o U A
-uf.lg(}."{w’a/(/{w’fgf B



116
e L ub A
- Jk oy B

-é_{g Lff Iy 1 :A

?ujc‘;,)/rgé’-A
-UZ+JJ:.{nJiB

_é“__k by X = = K el A

of F IF S YA
..d;{j?u:z}ulB

el bt JF oA

0t e ud gl TA
-Us b oy JP J~ B
e By S gt o S CTA

Exercises:

Q1) Fill in the blanks with the correct alternative given in the

brackets:
(e -2 ST . oo
s _.:,T - 5;7) &b O 7 Jm— 7

(& - SNl vy (I)j4 L ¢ d,-‘j .......... e 13
(g:, ~ i) - Wh oot oF 24
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(U.{t.’f.’ - é:—.{?)' .................. % Gk.( r/f u:‘? ek Jir 45
(2l - ) U Gl f LT 6

(28h %) ) S s S8
(UL - &) e el
(%..lg = (j:'”!g) —— Ly djﬁ 10
(93" S Rp— XY 4VEY/ 1 s ol 11

Q1) Answer the following questions:
W LT U JF e T
el ) rUC{ g £ d:—é &
U () & o 2 U Ut oy
e bt U U e ki
el b U D 8k U
Sy %y T U
e W b 7
Wt esd U &8
Wf § JEL S Yo
el te Uy S UL 10
et/ U g =l
te bt Ul b £ By S T2
bt/ U b3

o O A~ WN
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Note:
1)" &L " stands for should or ought to. Normally it is put after
the infinitive form of the verb, e.g.
"l b e S T
2)" -k " takes its * subject in the dative case (e.g, ¥ <« «
is used after the subject), e.g. 7
3) If the accompanying verb is transitive and has an object,
the idiom differs in Lucknow and Delhi.
In Luknow the infinitive is not inflected e.g.
"ue bt i S UE gy
4) Delhi the infinitive agreeswith the object in gender and
number, e.g.
V-3 G Y <A AV
5) If the accompanying verb is transitive and has no object,
'infinitve’ and " <& " will be in singular form, e.g.
"te bt Y L
6) If the object is feminine plural the infinitive used is feminine
singular, e.g.

" u.:“/!‘l.? ‘j'ﬂ’z U.?D/ ’( ‘17 "
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LESSON 16
PART |

STRUCTURAL ITEMS:

Helping Verb:

may / can / be able to e

(Present Tense)

Vocabulary:

to ring up ) o7 pone karna : heavy

todrive (i chalaana
to swim (/7 terna
toclimb toZ charhna
to lift £l uthaana

fluently [3!:/ rawaani se
. m$5-P o .
Cigarette .. cigarette
(m <
study time =3 & Jlo par'haahi ka waqat
stomach &g w-s-P pet/ belly

foot / feet U3l a.s.p paaon

car $¥ $.s gaari
tree <3 ws-p darkhat

foreigner (,Er /f ghair mulki

pain 22 w-s  dard
bad, upset 17 kharaab
high l;";l ooncha

sakna

(3/‘1

wazani
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Sus 06 T e 2 W oA
LTeud B

?unGCéfut,aufg:A
-;é.'::B

Sus (6 S w9 U A
-‘Z/ru“,(;B

‘rEe Ay A
-JB

fur & § el U A
“EQSE e F T B

TUn&CQq/‘iuf(:f:A
—US’CQU:‘;'-‘{./&L;{&;T:B
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?%ngzwd{ﬁuu:&}élgﬁgiA
gLy B

?und?/:,g{u}f,:ju:g:
-ugéfc,ggu}.;,;’:s

>

fun b 4 &gt ot U A

UGy S TSt By LT B
~e W g L sl Ut g A
-q{é(‘o%ff("_uﬁ:B

Ut E Gl et A YA
et EQW Ly St T 8B
U

fe (5 Uit aoi S Y A

s (5 Ust assh s« Ul . B

fe & Ui ot = (i oo Y A

e OF Uit e (oo < Ul u’ ‘B

e F oy i H YA
- &ﬁ oy 2)0 U 5B
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Ut équQ sl ¢ A
Ut & J 2 sy py ¢ Jb & B

‘U’éu) lr(A
-CCJ’(/;JU: ‘B
Sus A

w

P VN = Ui ez

-2 AT
-Uﬁajfuﬁf‘Uf(fB

% Gl G P A
-un(}cugu.’:‘ugd:B

£m2{c.u5»u’¢..;7giA
Eﬁ Zuﬁ;{&uu’lui’:B

'\ §

-< l{)i =B

?u*uﬁwwffuyf/_,: Y :A
-uru‘wwtfuyf/u::uw.:s

1L L[:A
CC .,,.,u.’t:B

‘l
e S

e
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W E e et STY A
-u;f(ibmdu.fzyf‘uy&:B

Exercises:
Q1) Completé the following sentences with appropriate forms
of " CC "in the present tense:

CA— T im0

PP Hfuay 9

[ ,{,u:f,»ﬁm:j 10

o 1A LTty
S oy LA b6 A Y 12
e, e,zm.;,T:13

J— Sl e T m oty 114
R /g;{u}m,{l’ 15

. (.’jd’tf‘utgﬂs
.................. (‘.’Uﬁ‘;/r-:«717
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ST Gk Ll AU 8
e ‘éu;?;z_%ufrugjﬂ{fb;l’ﬂg
B mpbemtrs Ji 0 SN Y 20

. Jroe— oY 0 21
L L LI e T D) J Pl u;’,; 02 22
L inm T Y 23

e U Sy m 24

e /fmf'k(:25

B e e 3¢ f Y 26

o gudn UImT Y 27
i o7 V¥ ebn Uim Uk 28

D by ot § sk 3 Pt Y129
S by it sk F 1 Ut 130
R s W2 omT Y 131

o (;fuﬁ’x:,m e 132
< T bty &7 me T | :33

sy fomsssesoaebrestasy t?/ﬁu‘;mz'/f :34

Q2) Answer the following questions:

?unlf(},._‘{);gﬂlfﬂ
e  § L f 22
s E Lo Ay 3
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?Uﬁ(s'c‘djég”u:g:“

Ut Sy B Sk Ay

Sus (& ¢ £ = 01 gt
UEG LY Ul B 7
S (& Ui o LU 8

e (8 Jdah Qi oo i 9
S oy f Y 10

St o sl A5l LY 1
St 2K e U 12

- SVt
e P 4

Ut E o fesn ) T 5
?u;‘jﬁtgg,m/u;ﬂff.{r’bfﬂs

ULV 2, T 7

-

St b uny T <7y 18
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PART i
STRUCTURAL ITEM:
Helping Verbs:
be able to 3% sakna

(Past and Futute Tense)
Vocabulary:
to take examinakion &y "  imtahaan dena
to get (b milna

please excuse me g‘f b+  muaaf keejie

to play L.L.‘r khelna
because of & 04 J ki wajah se
with -4 ke saath

with us # « v hamaare saath
with you F < tumhaare saath
on foot Jx paidal

rain £-s JA baarish

picnic f.s ..f_f picnic

guest . 8.P Ol mahmaan
birth-day . ¢ M saalgirah
sickness - S Yk beemaari

fe' ver S bukhaar

tickets  w.s-p J ticket

sightseeing ¢ 7 sery
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Vocabulary:
sunday ' w Il itwaar
ciicket ¢ &S cricket
noise  wn.s 4 shor
something 4 kuchh
closed v ban'd’
busy .y masroof

il agle

5 door
?quﬁ’u{/f‘;m‘f?T A
-K/T;c_e:d/cf/l,-ufiB

Sl d e e T YA
ik L G aB

SELL S TSIV
Lo daid ety Sl B

ST ud o Fu e U A
-u’fTJc—g:JrKulB

Lo Bl T A
-Kn(.:,&dg'lc,g:d/dﬂ:.ufiB



L S e =T A
-Lfr,:c_.?gd/ﬂ'}’gﬂ«u.?;diB

~Juplyuf‘;u¢~iu"ru;f..5¢f¢4b¢‘€£_jbﬂ:8

v&frjgmmﬁrgm
CUFTU L Uit o g B

o by o Ty
-Juﬁxpzufw_iwuwny,f&,wutza

?ZMJ/,fw_ﬁﬁg:A
-?uﬁ;}:{;.‘//p’v;/l/._iu’lung/mgut:B

&ff’:@uﬁgyﬁg}f,fng
-u;ug;:,,:,.fr,"‘Juﬁﬂuf‘,tg.gg;{,utzs
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?ﬁf@d,ﬁd_?.;fg:/\
-(U:a(gdfdpdgufcj_u"c%u;%dpﬂ

Exercises:
Q1) Completé the following sentences with appropriate forms
of " Lg " in the past tense.
T Toe ad FbE
e ,&;’,;,,{Jég.wwjajugzz
N (?,;{,qﬁéghéz_fuw/fgjh‘)(ﬁ
it T;,c,,?,d/rt{n?:ﬁ
R o2 e B 25
R A T,:,;,,?,JJ&JZ':G
e, ,{,;,rsﬁc,g,‘fé.;ﬁﬂ

F
SNBSS SEN eSO y‘.',é_p?)J/;uts

Q2) Complete the following sentences with the appropriate

forms of " Lﬁ " in the future tense.

ey S R U Ut i et e e
€ TA e £127Y 2

T TOF Ut Uleus byl s 23
 JE by s 1 U T U 4
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e Wy SR S S 2
R oIS Ao L gtusi oy
§ i ,W,uf:é{,g;j—':;f’g:
- (?J,C"),g:l'g

0 N OO O

Q3) Answer the following questions:
e T ol A e T
S d e W TS Y
?é{..‘q..fr‘q_;l’fg:
ST o il o e wi
s Yl L_;ngs
W Ul et 1T S 6
b S LTy
?Qf}/[;»_’,TL[:S
WA e Y cweibsrd L 20
L F T sa i L1 LT ¢ 10
0 U by 2t U LT Y
WM S e 2
W Ep R b Vs
L UE o UF Ui T Y 14

N oW N
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Note:
1) (@) The infinitive " bC " indicates ability to do something,
eg:
(I can lift this cup-board - " s & v U = A"
(b) It is also indicates possibility of action e.g.:

(Can you go to Lahore today - " (¢ 25 b U &7 <TY"

2) It is also used to request permission to do something e.g.:
(Maylcomein-?un&CTu:l S
(May he go - " T Cﬁ(gu(gf)")

3)" U: " is always placed after the root of another verb as
shown in the following conjugation table for present, future
and past.

| can speak Urdu " st CF Jsl sl U

| could not come " BT ST
| shall not be able to come tomorrow. " € U&7 o F Ut
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LESSON 17
STRUCTURAL ITEM:
Future Passive Participle

(to be done)

Vocabulary:
meeting%s...@’f meeting
library €s (741 laaibrary
party § -5 &/Q paarti
m:any“c"> § e baho't' si

et Ui £ STET A
- bl f Fr £ B

?tf u:/(g/f)(; S gt .,._,Ty/:A
et L LugdrgB

W STA e TS YA
-uzL/rKLc&;vié‘uﬁ}J.:B

Ut e b Ul U T A
-‘:‘;ugycfugc,d“//{ﬂéﬁ

Ut sk U ST A
Ut Oad S e S L Gt sl AL 4B
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W ST LTS A
-UﬁJ’/"%Jf‘uf‘?&iB
Katlf ML e d LT8R

Wi U S LTS A
E K e F Gt sy B

Exercises:

Q1) Fill in the blanks with the correct alternative given in the

brackets:
(te - k) e s S Tl
(£ - U TR — 2
) SR a— Wl L usda
W@ -2 . e d 4
(T » R — U e S S
(217~ 0a2) ~uff Hssms S5 e 6
2.7-tN 2 S o _;T 7
(f oT-eN B8 b Ll J 8

Q2) Answer the following questions:
e tb ol £ STel
0 Loy fepe Y2
o LTS eSS Y3

Ut et o UL ST A
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s b U T 5
Wf LT TS Y B
Wty S TS 7
Note:
1) The verb " tx " is added to the infinitive to give the sense of
must. It is used to show a thing is decided or arranged and
supposed to be done. It requires its subject in dative case e.g.

"o bl & " . In this context the necessity of the verb in future

is shown.

2)" t " is assumed to be the sign of masculine singular,so "J "
for feminine singular, " Z- " for masculine plural, (" d "is also
used for feminine plural ) are formed, for example:
ety &£
LS (¥ = e £
-‘a&-}vo/bgé—d{ﬁ/ﬂé
U OxF LD § e U

3)" ¢ mey S T
The above context is used to emphasise the fact.
4)" Gt my &

In this context an activity was decided upon, but did not

necessarily take place.
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LESSON 18

PART |
STRUCTURAL ITEM:
I_’resent perfect Tense : (Verb Intransitive)
Past tense and the present form of " [ " (to be)
according to the number and the gender of the subject, is
Present Perfect tense.
Vocabulary
just now Lffi abhi
e UV UF T F YA
eV UFuel UGB
?éf JEE sy A
e JEEnu 6B

0 £ ddon S £ 6T A
g LS 0 6B

X
They went to park to play '-" Ut 45 é’_‘?)t"_,i,/l; 53"
n the above context the infinitive " L&"( " (to play) is changed

nto " #/ " because of omitted post position " 4 " (for)
gL AL LA




VLR PSSV S0 I
,ujjgfa,v',;,yut B

)’UJJV' ‘A
’c_u’U//’}‘fle

i‘“ 3

vu‘fiiu/v’ :A
-u*(d“)gfz_é(.-s

Ui \T e g1 F 4B

Cor JTC,/’]!, JFA
~us 8T ¢ b B

LN .,
?ugg_réi/;;£~;73A
s

-ujLYéuﬁuiB



Vocabulary:
snow fall  £-¢ Gibis

to meet Ch
sick e
some time, ever Jr

Nnevey Bt U"J/

137

_ barf baari
milna
beemar

kabhi
kabint Nedaconm

e d U G ST
g § e

St & o iar e
=it & N iat LR

QUZLSKL;..'/(J(g«Tg
o AU

st £ 2o 8 S TY A

~un&f'£fﬁdﬂ.»'/.t5/uf‘uw:

e eI Y
il et UG

?)’ié"c,_.f?brvlfg:
_un b e g i
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S’ung;}“ya::,f’@Tg:A
~ i/bﬂ)f{édafuﬂ

R SFTIC A A

Note: In negative sentences of the present perfect tense, the
different forms of verb (to be) " Usx - 5 - Ut - < " are not
used.

Exercises:
Q1) Fill in the blanks with different forms of past perfect tense,

using infinitives, which are given in the brackets.

(te)  JR—— JEeT F Y
(te) JEFE sy 2
CEEY Wi EIL LTy 3
17 A SR 2y S uy Y 4
(¢7) . o pE T s
3] D e P E 26
¢ § e e JF g S ;7:7
(tT) = s e JFE »Ut8
("N S e mid J A9

3

(t21) s ;2{“;7 10



(t21) e £ & (i
(t7 0 e JC—UZ.’I("’ZQ
(t) R EE 2L <713
(te) SO g S o714
(kL) e Li;/f;fk(ﬂs
(tl) S gS P 16
(7 & ST é)djwzd/fﬁ}fgzw
(te) IR & i s F 18
)] e bt ; Y 19
(b e e Ul 20
(v 8 e e ol r‘/; Flﬁ( 21
) R G e o P22
(te) S Bl STl Y 23
(tk) L O il L(( ;T Y 24

Q2) Answer the following questions:

e U JF T F U
‘-'{-kfd}ﬁuéwilfzz

s L E I & LTy 3
s § ey Ut ud Y 4
?Ll’éﬁ‘f_’z’f:jﬁ

' AT P L & T
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?ujl..!'c.mub//_/:,l’ﬁ
?de%éiqffﬂ
2 GNP (VA
w07« iy I 210
o & Ul g1 T
‘-’uzfjug L2 512

ur & g ¢ T

Y :13

L s G & LT 4
?nd'au,u,h[ﬁ
ko ol MZ U 6
vwcf/md’_,r o7V 17
/fuu"f Ty 18



sing(masc)

sing(fem)

plu(masc)

plu(fem)

141

PRESENT PERFECT

2nd PERSON )
1st PERSON |PLAIN HONORFIC 3rd PERSON
un LT Ut n2TF et T e To
main aaya tum aa-e ho aap aa-e hain wuh aaya hai
hoon
| have come |You have come [You have come |he has come
undl ot |77 ot 0T T < T
main aa-i hoon|tum aa-i ho aap aa-i hain wuh aa-i hai

we have come

You have come

You have come

| have come |You have come |You have come |[she has come
3. P g et T g eT e
hum aa-e hain [tum aa-e ho aap aa-e hain  |wuh aa-e hain

they have come

(N d A
hum aae/aae

hain

we have come

PET:

tum aa-i ho

You have come

o 07 T

aap aa-i hain

You have come

UIJT o)

wuh aa-i hain

they have come

Note: Second Person Singular (plain) is as follows:

thou has come

SING (FEM) SING (MASC)
P 17
too aa-i hai too aaya hai

thou has come
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PART II
STRUCTURAL ITEM:
Present Perfect ( Transitive verb )
Past tense and the present form of " tx " (to be)

according to the number and the gender of the object is

present perfect tense.

Vocabulary:
to clean t/ilo saaf karna : bazar /il bazar
toread, study 2% parhna : towel "~ Uy  toliya
to break ts9 torna ; utensilsh'gx bartan

$8%
to put, fix, place (¢ lagaana :candle (¢ (¥ mom batti

to lift, take tW¥ uthaana : window; :Jl[/‘f khir'kiyan

to light, burn  (l¢ jalaana televisior‘: :5:—(} TV

to open ¥#  kholna $ clothesw‘zi k.’/ kapr'e

to drive, turn on,tle  chalaana

switch on Justnow. g1 Al abhl ably
to close, t/%: band karna

switch off

to put 65 Yyakhna_

to boil Ul ubaalna

to iron I 1 istari karna

ice wm.s.r b chaawal

breads f.p ¥z chapaatian
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<

fe Ut S0 L A

< VEEI S gy B

e dibd oA
,‘LQL_‘I.?LJI,L);J.:B

fur el Jog J_uj/ﬁ[ A
gt e sk &ousic gy 3B
vt 0 Ul sk i Ui B

?§_ a7 (:( < il i ..__,T A

-k VY Lid UhB

e WSS L FYA
eV Sb S LGB

fe by BT L () LT YA
e by BIKET L AU G B

?‘ab‘?u’L{Lf'giA
N EY-A T SR
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e Wt g A
e Wty 2 e §IB

W,

~uf :‘_lﬁ‘ L e 1B
e e Gpr i v A
el ds

?ugdyful:@/i_J(:A
-u}d;{ug@/é_uﬁ:B

el -d LU A
e e -3 B

< & pmi B

?("_ J{/:h:JCJ/LJKA
-< J{;{.,WLUL/IB

bt A
P bl B
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?ug(f‘{ufo/djv:LJ/:A
-ujf‘{(j.&l:(djl/:«i,,olaﬂ

WL e el U A
gL He S LT B

Exercises:
Q1) Fill in the blanks with different forms of the present perfect

tense using infinitives which are given in the brackets:

/) &0 s iy
(t) R, b Y 2
(T"9) L e el Loy B
(79 T Lz s & A4
(tx?) e Ui bd s
¢S S e PR
(tl2) [ MWBIE T L AT
(32)) SR ¥ o f' L 8
(629 — Sl e
(8 ¢6) O (AL g 10
(D) e r e o Ul 11
(tie) e & s S J‘ 12
(%) [ — UL'(/'{ U3

(bt I Sicd i of A4



) S Al s
@) . oM Uk6
(752 S ST o L a7

Q2) Answer the following questions:

(a(f(z_w/,wb4
?(‘_ t,k]gc,,l)gL__:,l 5
e Ol S LAY e
e by ABIE T L () T Y 7
e VU L F U8
?c_mt/t///_o’(9

St S s e 2 o 0
?‘QGU?G")’LJ(311

sur b o LU 2

e L -3 & U 13

e i pm iU 14

s Ly 15

ur Sy U B L LU 116

)
&
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PART Il
STRUCTURAL ITEM:
Present perfect:

to finish (Intransitive Verb) t&  chukna

Ali has read this book "< & oy U L F
Vocabulary:
guest ww.s.p ol mehmaan .  Yet Jdd.‘ f-abWitak
novel  wm.s.p st naawal
short story wn.s. <Ll afsaana
work w-s-p ¥ kaam
time =/ martabah
sometimes, even u’( kabhi
then A to phir
to finish 6/ f’ khatam karna
mMauy & Ka
Aqein ools> dobaavra

e oy U L SV A
-‘Léaz..._al:(:«utu%(;iB

e f s A
-‘a.d‘gru:uyﬁ.:B

L W & YA
..u}’zf._u/u‘u&(j.ZB
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U £ Zd’t~~:”‘:.f
-Un & oY

C_Q
'l
C_C»,
9

-‘ala?li
Wury ot g L Ut
-éLc‘Qb“a:

w>w>mj$

?ugé‘;::/‘ff_/_;r’uf:A

ULz G A

Sr B oy 2, LT A

_uguﬁ’.fu“"ﬁi_u::uﬁ’&:s

m.g,{,(“,(“g;
-U)’ﬁa{)u:ru L&
(‘Z}‘[)ub}!‘b fo

¥ U)"{) uLJJ (b ~ Gk

©® > w >
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?u,:r:
-ﬂfﬁtﬁ?‘:’:B

el S P A
-unﬁ/ferlgluﬁfu;J.:B
of SV (;v"A
_J UsS (Ul Ut o1 B

St d e
-‘Lﬁ}"";}i.k:

Sk £
-‘cugn';}gf{u:

w > W >

Exercises:

Q1) Complete the following sentences with appropriate forms

Of " bg Il.

S esepvenvesne v IJU 2
b s uf(,u/“i 3
GLIE s Tule S 4



Note:

1) The verb " L2 " is used for completion.

2) The root of the verb itself ramains unchanged while " b€ " is
conjugatedas required in any tense or mood, for example:
Present Perfect Tense g @ T os ( They have come )

Past Perfect tens e & é T »s ( They had come )



sing(masc)

sing(fem)

151

PRESENT PERFECT TENSE WITH " e "

plu(masc)

hum ja chuke
hain

we have gone

tum ja chuke
ho

you have gone

aap ja chuke
hain

you have gone

2nd PERSON
1st PERSON [PLAIN HONORlFIC 3rd PERSON
Ukl |n&f LT  |ebbn
main ja chuk |tum ja chuke |aap ja chuke wuh ja chuka hai
hoon ho hain
| have gone |you have gone you have gone |he has gone
et (nEup g El T «Ebw
main ja chuki [tum ja chuki ko [aap ja chuki hain [wuh ja chuki hai
hoon
I have gone | you have gone [you have gone _|she has gone
&l n&ef  |ufe  |uLew

wuh ja chuke hain

they have gone

plu(fem)

L
Ut
hum ja chuke

(chuki) hain

we have gone

x(ﬁbf’

tum ja chuki ho

you have gone

ut e T

aap ja chuki hain

ut FE

wuh ja chuki hain

you have gone |they have gone

Note . Second Parsan S‘W\%\'\Lo.v Q’\ain\ B as 3(0[(0\4)5—

Simg fem S'wmq mage
LS| LS
[ = ) .
tu Ja chuXd tu Ja huka
eu _ hewy
WRou has qone. Wou has Gone.
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LESSON 19

STRUCTURAL ITEM:

Past Perfect Tense:

Vocabulary:
to invite, call )
match m .s-p 6‘

marriage £.¢ (P

last (hef
last 2;:
last year Ju &%

last sunday A9 25

daj bejere Ury
Yes }-erclcxj

bulaana
match
shaadi
pichhla
pichhle
pichhle saal

pichhle itwaar

W & U S A
-o;{(gfi_é/.g{u ‘B

?é:éfut[frlffé:A
LM L B

?uf{ (jr‘ U st U5 S Y42 g ‘A
- 4
-u{d)’ufug(jiB
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CLBIL TS YA
_éz.éfu.?;}.b 09 :B

Ul A

-& U o B

fjfjuwtj_;ﬂfg:/\
..uf?fu:u;(;.SB

?ééui[dlxg;;vf:A
G ol Ju & B

C Ly YA
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Exercises:

Q1) Complete the following sentences in past perfect tense,

using infinitive given in the brackets:

(te) . e o & 1
(te) S o F 2
(tk) e u(,‘(,fr(; £13
() € e bt a4
(te) [ Au LT 5 Y 5
(tk) S A grd ol J U6
(t)  J— o Jv &5 LT
(tL) [ il Ju ‘L%i J‘j 8
(fe) % and L LeETY 9

(uf) T L CET T u: 10
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7)€ P, 21 F Y A

(3D e ?’: 12

(ty) © e ,’,C(?L}{g;w

(ty) e — we Ul & 14
ORZ) s LLTE Y 15
@/ 20 e iU 16
(&) A z_g,/rg;g_f’g;w
Y. § diammon ‘J,(; b =l 18
) N Uty &L & U 19

(ed ) R Gy o L A2
(715 I J— 44'_\;,f_.,>u(.‘fg__;7g;21
CELD  § s L6 U= L T 22

O J— S L k23
(L-,az) N SR L}:/:L, (7 24

Q2) Answer the following questions:
e oy S &1
of & o F 2
& Lo S &3
s Gy b s f o/ 4
e LHpn L TS Y5
0§ mdd LTI 8
?ééul[db«%__ﬂ:?
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?Qb@éb‘f/i,_;c’quzg
?QL&{LJ[@V(&AEE}L?TJﬂO
WG S (DS ol T
Wk g S o L T
e Ly el FY 3
W‘WZJ’"ngf'J(&(:M

11

!t\ 8({:\8

Note:
1) (a) Past perfect Tense
subject + simple past tense + past form of the verb (to be)

when the past tense of the verb " to be " is added to the
simple past tense according to the number and gender of the
subject, it forms the past perfect tense.

e.g.

"B S e
(b) The past perfect tense (transitive Verb), the verb (to be)

is used according to the number and gender of the object.

e.g.:

Py S iy



sing(masc)

158
PAST PERFECT

sing(fem)

plu(masc)

plu(fem)

hum aai theen
hum aae the

we had come

tum aai theen

you had come

aap aai theen

you had come

2nd PERSON
1st PERSON |PLAIN HONOR‘FIC 3rd PERSON
@ LT o é".z_Tf é‘.LT*T LT 0
main aaya tha [tum aae the aap aae the wuh aaya tha
I had come you had come |[you had come |he had come
Sdre |SForg 941 (A SR 1T 18
main aai thi tum aai theen |aap aai theen wuh aae thi
| had come you had come |you had come |she had come
£zTp |&eTf &7 T 27w
hum aae the |tum aae the aap aae the wuh aae the
we had come |you had come |you had come |they had come
E Rl TE hEir? 0T LT o §T e
(&2

wuh aai theen

they had come

Note: Second Person Singular (plain) is as follows:

you had come

SING (FEM) SING (MASC)
Fdrs g
too aai thi too aaya tha

you had come
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LESSON 20
STRUCTURAL ITEM:

Reflexive Pronoun:

my-self, our-selves, your.selves, T /% khud/aap
him.self, her_self, them-selves
Vocabulary:

to sew t~ seena

to make tt:  banaana

to bring (U laana

to wash t#» dhona

shit {-s u‘-} gameez

utensils ™-$®* (7 bartan

picture, €-% “/r‘; tasweer

photograph

¢ W 22V U G A
-3 ulf’?(:«!’))}dh

o = i J"»},,:
Juy(u!)»’u‘:

oL u’u.;; Tepy

€ Usk (1) 8 Ut U 6

oL g Sl sp =T s 2
LS Sl (G o8

"_\
6bic'-i:bj$m>w

ﬂ,
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e dt: (Mot il 9 VA
=3 e (77) 2w U B

Yu}J»b»’d‘uﬁW,\[!A
-Ut 4 B
e Wol £ ul o Ul A

-u_’; i.lj (b’;T) ))'; 0 :B

/4 4.];'/ L J ‘A
e i s, B
¥ 2 AU A

e L 25 0B

e Wi b S T A
-g L (1) o9 iUy G B
- g7 s A

LAl A
LU 5 gy B
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Exercise:
Q) Fill in the blank with " _T " or " »5 "
- “(f .................. 1
U U2
L U:/l/ .................. %:,T 2L 3
K s Sk 4
8L S WMo s .?,Tjjc,g5
L US Bl i A6
L L AT
fe Sbe b8
H el 9
_J d.."/f’: .................. »s 110
_4‘-__&(.,. R j_u,w’]:ﬂ

LS s Y 12
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LESSON 21

STRUCTURAL ITEM:

Past Habitual Tense:

Vocabulary:
child-hood m-s ¢
village wa.5.p U3E

. &
cty . omsp £

bachpan
gaaon

shahar

factory . ¢ d}g factory
french £ u’d/ fraanseesi

game, sport sesk Lf
tablestennis £ %

khel
J-"': table tennis

% b ol U o
N ACYRV-AV SR
?‘al&/u‘rfﬂ’tﬁ73

..‘Luz/dt/‘wiui

w > W >

%



163
YUF&JU:JL”%J(/»IA/AH}U&'(:A
~U!@szkfﬂnstuy&18

& & S ¥ ugfzt&h;futug? A
£ LS LB

WE OS¢ U Ut okl 81 T A
-U?a/(KLﬂ]:ba)lB

& Ly ol 0 LT Ul oA
Bty gl 2 A B

U Gy ol 0t U UE LT U A
Sy ot g

?éZE—“/defdeqv" ‘A
LHE B REJYF B

?uit?:{JfouﬁéKe/fT:A
2 (EFHY K

?é”g;a),;u:q,ffgf:A
-V?:,(j.%)u:u:q_‘fuf:B



Exercises: using Ik

Q1) Complete the following sentences ¢ Past Habitual Forr

of \Re infinitive.. given in the brackets:

(62) g (‘q 1
(Z29)  S—— U JE S o dE 2
(7 S J— & Ju é&’ & LT3
(L) § s U Fr e sl s 4
S (¥ S W8 LT 5
OS2, S U e d1 2T 6
(to) O o ¥ T Lol 7
(L) € e R IE T s
(k) S on o F Y :9
(b2y) S e 0F U F AU 0

Q2) Answer the following questions:

?Wﬁjuquﬁ‘jj’(‘/]ﬂ
o Py A UF 2 Jo &2
ol LU b e LT3
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U Gt P & e sl sl 4
E LS o U 4L T Ul 5
W3S o Lo o1 T
& Iy o o T U ol T
W Byl B JE T 8
Yézrw‘}fu’fﬁt}!éw”ff 9
?uf;&‘(d:’(u{uﬁé(.,/gno
& 2 oom S AN
W §y e 5P U of (U2

Note:
Past Habitual Tense:
When the past tense of the verb (to be) is added to the
present participle of any verb, it forms the past habitual tense, e.9-

“la &L 2
b B\»:IJU:LJ)\:(Q) o
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PAST HABITUAL TENSE

2nd PERSON
1st PERSON [PLAIN HONORFIC 3rd PERSON
sing(masc)| ¥ [ U £z 7 2 T P
main peeta tha (tum peete the |aap peete the |wuh peeta tha
| used to drink you used to you used to he used to drink
drink drink
sing(fem) | & ot E & 4 § &
main peeti thi  |tum peeti theen |aap peeti theen |wuh peeti thi
| used to drink |you used to you used to she used to drink
drink drink
plu(masc)|& 2 4 &z f &2 of &2 n
hum peete the [tum peete the aap peete the |wuh peete the
we used to drink|you used to you used to they used to
drink drink drink
putem) | £ & @ (LT | @
(£ 2)
hum peeti theen [tum peeti theen |aap peeti theen [wuh peeti thi
hum peete the |you used to you used to they used to
we used to drink|drink drink drink

Note: Second Person Singular (plain) is as follows:

thou used to drink

SING (FEM) SING (MASC)
F & G
too peeti thi too peeta tha

thou used to drink
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LESSON 22
STRUCTURAL ITEM:

Conjunctive Participle

after washing / >

Vocabulary:
to take (4 lena
lunch m. & (¥ en dopahy fba Khaana
break fast - - =t maashta
tooth An-S-P =l daant
news paper w-$° T A3 akhbay
prayer £ iU Mnawmaaz
embassy m- S b el B\Raarak Klhaang
letter wm.s-P kS ok
novel w80 ik ~woval
to make the break fast  tl: Lt Maashta banawa
to set the break fast by e Naasha \agaana
to eat the break fast £t moswls - Kand
to clean £ il Saaf  Kama
to offer prayer bayy SU Moawmedz Pax’hung
to finish ) f) Koo kanwa
to wash £ Ahswa
to make tea b &b Chat € baunakung
to write el Uik

o kake vest ~\"j’ ?‘L\ aa Yaawm farnq
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oSS mey T
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0 LWt b A
U 6B
¢ ud A
e TSt B

G S s Fya
~Ww S A s g
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U es b U ST A
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Exercise:
Q) Fill in the blanks with conjunctive participle, using the verbs

which are given in the brackets:

(L) I 7 Ty e p— PR TR
(k) TR | (e— e JEF L 2
(li/”) -.5.‘874% .................. 5t 05 :3
(\A}’} U Bty B oo sl
(U/'/"';‘”’) el B vusei = e B
(L) St A U g .16
(L*")}) L 53 i it o F Y7
ez, JEY SR p— I
(=5 o S e T
( LW) C N . G et

L7) AL S S



(\*d:>) "Lj_?ét"f-f .................. ')’M 1(
Lo ” i
(Lo%) 3 e — . 7 g )
(/ ) RV 1V G— PO AVt
( L) , ..
‘ ?L_}V)é_? .................. M&_,(l/(‘l’-l
C l‘:—d) _u:’[? .................. L T 115
(Ler. ) S [ (5 w6
Note:

1) Conjunctive participle is formed by adding " S vornZ"to

the root of the verb, e.g:

after washing S = S+

after eating break fast L S Ft = L+ [ U5
‘ -Ii'.'f';'l-:'«' FER

after reading / study A o% = S+ P4

The participle conveys the idea of " having done something "
or " something having happenéd: is produced. This can be use
to connect two or more verbs having the same subject,
whether one adds "/ " ov " L "is largely a matter of style;
however, with the root of " A (to be ) already being" / ", a

second " f " is not added but " £ " is used instead.

2) The form does away with the need for the conjunction " sl "
even though the word " and " may be carried into a smooth

ENGLISH TRANSLATION. In this construction the action of
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the first verb ( put in the form of the conjunctive participle )
occurs prior to and connected with the action of the second
verb, Fbr example: |
Lf Et S o #} L 1 (after washing hands and
face, he had a break-fast)
Wt sl L# #| = i U1 (he washed hands and face
and had break-fast)

khkkkkkhkkkkkkkhkhkhkhkkkkhkhkkkhkkkhkkhkkk



